CHINMAYA ACADEMY FOR CIVIL SERVICES
TNPSC GROUP 2/2A EXAMINATION 2025
PRELIMS - ANSWER KEY

L
i
|

CHINMAYA ACADEMY
CIVIL SERVIGES




— W W L T W L

1.  Passage:

Question :

A COmpany facing declining market share considered
t_wo Options : aggressive price cuts or a niche product
line targeting a specific consumer segment. The CEO,
known for hig long-term vision, argued that the price
cuts would only offer temporary relief and erode brand
value. He emphasized building a loyal customer base

through unique product offerings and differentiated
Service.

Based on the passage, which of the following is most
likely to be true?

(@) The COmpany is primarily focused on short-term financial

gains.

(b) The CEO of the company prioritizes sustainable growth and
brand loyalty.

(¢) The company’s main challenge is a lack of production capacity.

(d) The niche product strategy has proved to be successful for the
company.

(A) Only (a)
(B) Both (a) and (b)
(C) Only (b)
(D) Both (c) and (d)

(E) Answer not known
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‘n column A are

2. Which of the following British Eng]ish'WOF‘ii dlsnm column B

Incorrectly paired with the American English W

Column A Column B

i Courgette - Egg plant

2. Rocket —  Arugala

3. Aubergine -  Zucchini

4. Fringe - Bangs

(&) 1and?2 (B) _2and4

(C) 3and4 (D) land3

(E)  Answer not known
3.

_— in column A
In the given pairs, the type of compound WOI‘d.IS given (I,Errect pairs
and the examples are given in column B. Identify the in
of types and their examples.

Column A Column B
L. Open compound words — snowman
2. Closed compound words —  ice cream
3. Co-ordinative compound words — walkie-talkie
4. Adjective compound words —  blue-eyed
(A) 1and3 (B) 1and2
(C) 2and4 (D) 3Sand4

(E) Answer not known

4. What figure of speech is the following?
Life is compared to pathless wood with the word ‘like’.

(A) Metaphor (B) Personification

(C) Simile (D) Hyperbole
(E)  Answer not known
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5.  Choose the correct choices

Navika Sagay Parikramg Wwas a project to

1.  Prom Economj
romote CO omlcal status Of women.
2. Empowe wom '
p I Women tq attain their full potential.
3. Pr 1
omote reservation of women in the Indian Navy.
4,

Promote Ocean sailing activities
(A) 1and 2 are correct
(B) 2 and 4 are correct
(C) 3and 4 are correct
(D) 2 and 3 are correct

(E) Answer not known

6.  Who inspired Arthur Conan Doyle to create the character “Sherlock
Holmes™?

(a) Dr. Watson
(b) Dr. Ainstree

(¢) Inspector Smith
(d) Joseph Bell

(A) (a) and (c) (B) (b) only
(C) (¢) and (d) (D) (d) only.

(E) Answer not known
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[Turn over


Highlight

Highlight


need to knoy,

:--3'

Scenario You are a volunteer for a Jocal charity and
the specific items the charity currently needejd for
donations. Write an email to the charity’s coordinator
asking for an updated donation list :

Type of Query :

(a) Charity Support Inquiry
(b) Material Request
(© Donation Item Request
(d) Volunteer co-ordination
(4) Only (a)
(B) Only (c)

“(C) Only (b)
(D) (@), (b), (c)

(E) Answer not known
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8. ldentify the sentence.

He commented how beautiful the girl was”.

(A) Simple sentence (B) Compound sentence

(&) Complex sentence (D) Interrogative sentence
(E)  Answer not known

9.  The phrase A crown made of gold 1s

(A) an adjective phrase (B) an adjective clause
(C) an adverbial phrase (D) an adverbial clause

(E) Answer not known

10. The three structures of the positive degree are

(A) As..as, So-as, No other...as...as (B) As...so, and-so, but...so
(C) So...s0, So-but, So...and (D) None of the above
(E) Answer not known

11. Choose the sentence with the correct use of the comparative degree :
(a) He is more smarter than any one in the class.
(b) This bus is less more crowded than the other.

(¢c) This sum is less complicated than the previous one.

(d) The game is more easier than expected.

A4) (a)
(B) (b)
© ©
D) (@)

(E) Answer not known
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12, que ID has expandé re

Passage - ‘Aadhaar’, India’s uniq It aimed t0 reduce fraud apg

i ' rvices. *¥ t privacy anpg
- 1s diverse servi about p i
::(’)(;’;"';;;';nm] inclusion. CQHCEYEZJance security with,
exclugion persist. Court rul
rights.

Question : Which of the following state

: e
main ideas presented in the passag

¢ accurately reflect the
ments about Aadhaar?

Select al] statements that apply. o

(@) Aadhaar is only used for welfare diStrlbuFlpT urpose

(b) Aadhaar’s scope has grown beyond it’s initial p setal oiltigion
(©)  Aadhaar aimed to reduce fraud and imp i ﬁnz'li;h Aadhaar
(d) Privacy and exclusion concerns are associated Wi

@A) o), @, @) (B) (a), (b), (©); (d)
(€)  (b) and (c) (D) only (b)
(E)  Answer not known

: S ing industry i
13. With a sense of optimism slowly creeping in, the banking industry ig

hopeful that 2025 will bring better growth prospects. Thls. optlmklism
stems from a number of factors. For one, the Government 18 ‘g;ﬁ‘ Eg
hard to revitalise the industrial growth in the country. Secondly, the
RBI has initiated a numbers of measures that would go a long way
n helping the banks to restructure themselves thereby 1mproving
the profile of non-performing banks.

What is the biggest challenge for banks in India?

(A) To handle corporate borrowers

(B) To pursue targets of financial inclusion
(D) Onslaught of foreign banks

(E) Answer not known

14. Which question type illustrates a point or focuses attention on an
idea or principle?

Choose from the options given below.

(A) Rhetorical (B) Funnel

(C) Inference (D) Divergent
(E) Answer not known
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Ls
2.

(a)
(b)
(c)

(d)

(A)
B)
©)
D)
(E)

Complete the blanks using the phrasal verbs given in the options:

You'd better ring hey and tell her you'll be late.

I invited her to drop

any time she was passing for
a cup of tea.

If you can’t afford it, you'll have to do %

e —

?e won't buy the car without tryingit 00 the road
1rst,

out
n
up

without

1-(¢) 2—(d) 3-(b) (4)(a)
1-(b) 2—(c) 3—(a) (4)«(q)
1-@) 2-(c) 3—(d) (4)—(b)
1-(¢) 2-(b) 8—(d) (4)—(a)

Answer not known

16. Identify the correct spelling of the word which denotes the following
sentence.

A class of people in society who are interested mainly in having
more money and a higher social position.

(A) Bourggiese (B) Borgieoise
(C) Bourgeoisie (D) Bourgeosie
(E) Answer not known
CCSE2-2AE/2025 9 ¢
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Ident,ify the poetic works of ‘Robert Frost.

1.~ The Road Not Taken
2. The Jungle Book
3. Mending Wall
4. Treasure Island
A) 1 only (B) 1 and 2 only
(€) 1and 3 only () 2 and 4 only
(E)  Answer not known
18. Which of the following statements do not agree with S el
Views in the poem “On killing a tree”?
1. Cutting a tree i 1s an act of murder
2. Asimple jab of the knife will cut a tree
3. Disapproval of mankind is failure to care for the earth
4.  The strength of the tree lies on its big branches
(A) 1and?2 (B) 2and 4
(C) 3and4 (D) 1 and 4
(E)  Answer not known
19.  Identify the figure of speech in these lines.
Faster than a cheetah
With a tail that’s miles long
Bigger than a mountain
So powerful and strong.
(A) Imagery (B) Anaphora
(C) Consonance (D) Simile
(E) Answer not known
CCSE2-2AE/2025 10


Highlight

Highlight

Highlight


90, D'assage Dig

1tal h]:!if'nrm_q enhance citizen access to S,Irn.r~l‘l'lt'm'r1'

Serviceg
ICes. Online portals reduce bureaucratic delays

This Implies Increased transparency and efficency

Stre :
reamlined Processes foster public trust.
Question - - :
. - Which of the following can be best inferred from the
Passage?
(a)

E-gove -
rna ' ‘
Nee Increases bureaucratic delays.

(b) governance potentially increases transparency.

c) Streamline

(c) eamlined processes can build public trust.

(d) Digital platforms reduce citizen access to services.

(C) (b) and (¢) (D) (a) and (d)

(E) Answer not known

91. Passage: Renewable energy reduces carbon emissions. Solar and

wind power are increasingly viable. This transition
combats climate change. Sustainable energy solutions
are vital for future generations.

Question :  Which of the following statements best summarize the
main points of the passage?

(a) Renewable energy has no impact on climate change.

(b) Renewable energy reduces carbon emissions.

(c) Solar and wind power are becoming increasingly viable.

(d) Sustainable energy solutions are crucial for future generations.

A4) (b), (a), (c) B) (b), (d), (a)

(€) (a), (), (0) D) (b), (c), (d)

(E) Answer not known

CCSE2-2AE/2025 L ¢
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Monday” will he
eon:
The Interrogative form of ‘You have to be ther

(A) win you be there on Monday’

(B)  Would you be there on Monday”

(C)  Can you be there on Monday?

(D) Could you be there on Monday?

(E) Answer not known

k' into g
(9 L .| . ‘ : me a boO n
23, Transform the imperative sentence Give

appreciative statement.

(a)  T'm glad that you have given a book
(b)  Thank you for giving a book

(¢) T appreciate you giving a book

(d)  Why do you not give a book?

(A) (a) (B) (b)
(€) (o) D) (d)
(E) Answer not known

24. Choose the correct verb form from the options given below.

Dogs usually cats.
(A) chased (B) chase
(C) are chasing (D) were chasing

(E) Answer not known

25.  Choose the correct verb form to fill the following statement :

“If she had studied well, she in the examination”.
(A) would have passed (B) would passed
(C) would pass (D) would be passed

(E) Answer not known

CCSE2-2AE/2025 12 ¢
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26. Translate the following sentence into English

e @G M e en prest @ns Cosammanns apiapPmiGrien

Choose the correct translation from the options given of the
sentence given below.

(A) Iwill have completed this work by tomorrow.
(B)  Lwould have finished this work by tomorrow.

(€) Thave completed this work by this time tomorrow.

(E) Answer not known

27. Sentence : They were being followed when they left the building.

Question : Which of the following Tamil Sentences best conveys the

meaning of the given English Sentence?

(a) jeunrser SLiglLgms o QeauelCuhuw Curg SeuTsmar Gl
Qs iThgmiaser

(b) waisdr sg gas @ GeueiGumib Curg Deuisar (Ger
Qeryiul (& Qaramg mHsTree

(© s &g sws A QeuefGuilamiser, Dieuismer e

Qer_fhgriser,

(d) seutsd slggos @ QeaaiCumb Gurg deisdr Geor
QaTL_hgTiser.

®) (@) and () ® only®)

(C) (a) and (d) | (D) only (¢)

(E) Answer not known

CCSE2-2AE/2025 13 ¢
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In a legal context, which of the following sen

right’ appropriately?

(a)
(b)
()
(d)

(A)
B)
(€)
(D)
(E)

Turn right at the next intersection
It is your right to remain silent
The answer is right in front of you

‘ 1s sister
He wanted to right the wrong he did to his si

(a) and (c)
only (b)
only (c)
(c) and (d)

Answer not known

29.  Which pair is an example of homophones?

(A)
(B)

(©)
D)

(E)

Read and Read
Light and dark
Bear and bare
Pretty and beautiful

Answer not known

CCSE2-2AE/2025 14
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30.

31.

32.

33.

The meanin ion’ i
g of the word ‘Repercussion’ is -

(A) repetitious (B) irreplaceable
(C) an unpleasant effect (D) repellent

(E) Answer not known

Which of the following is not included in a memo?

(A) Subject line (B) Greeting/Salutation
(C) To and from sections (D) Signature line

(E) Answer not known

Which of the following is a suitable salutation for a formal letter?

(A) Hello (B) Dear Sir/Madam
(C) Cheers (D) Best regards
(E) Answer not known

The Acronym of the term ‘DGTD’ is

(A) Direct General Telecommunication Department
(B) District Grant Tax Department

(C) Digital Government Tele Department

(D) Directorate General of Technical Development

(E) Answer not known

CCSE2-2AE/2025 15 ¢
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34,

35.

36.

5 r‘ﬂ(.!kﬁ, It’q rhythm.

d along the ™ illowed from 3
ndioad against the blue gk
windows, watching the
ew, 4 long, mournful

Passage: The old train chugge
clanking a familiar sOU
engine, creating a white lf
Passengers gazed out t’etle bl
landscape roll by. The whis

sound.

Question : Match the descriptio. B
with their meanings in Column D-

Column A Golumb 2 ) ffect
(a) Rhythmic clanting 1 Creates & visud 4 experienc
(b) Steam billows 2. . Proyidas an aud]to?(f)f the traine
(c) Passengers gazing 3.  Highlights tha pe and trave]
(d) Mournful whistle 4. Indicates observation ’

n of the train journey in Column 7

@ m @© @
(A) 4 2 1
B) 1 2 4
©€) 2 1 4
D) 3 4 2

(E) Answer not known

= W W W

Complete the sentence below, choosing the suitable words from the
options given.

He is at the in the organisation.
(A) Herculean Task (B) High time
(C) Hitch hike (D) Helm of affairs

(E) Answer not known

Complete the sentence given below, choosing the most appropriate
words from the options given.

, I was born on exactly the same day as my wife.
(A) asif (B) frighteningly

(C) my ‘eyel (D) funnily enough
(E) Answer not known

CCSE2-2AE/2025 16 (I)
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Which of the fnllowing 18 an imp
‘ e

rative sentence?
(a) Who are you? ntence’

(b) How did you explain this question?
(¢) Clean your room |

(d) What a great statue!

A) (a)
©) (©

(E) Answer not known

(B) (b)
(D) (@)

38. “Let my head be shattered to pieces” is an
(A) Interrogative sentence (B) Affirmative sentence
(C) Imperative sentence (D) Exclamatory sentence
(E) Answer not known
39. Transform the following assertive sentence into an imperative
sentence :
‘You should answer all the questions’.
(a) Should you answer all the questions?
(b) Answer all the questions.
(c) You answer all the questions.
(d) All questions should be answered.
(A) (a) B) ()
(C) (¢ D) ()
(E) Answer not known
CCSE2-2AE/2025 ke
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40. Match the words with the suitable pair words.

Column - A Column - B
(@) Walls 1. Straggle
(b) Lights 2. Flicker
(c) People 3. Scuttle
(d) Pathofavalley 4. Crumble
(e) Insects 5. Huddle

@ ® @© @ @
@ 3 2 4 5
B 4 2 5 1
€) 2 3 1 5
D) 1 5 3 4

(E) Answer not known

[ Y S o

41. Which of the following statements are true about the play ‘The
Tempest’?

()  ‘The Tempest’ was written in 1500.

(i) It is considered to be one of the last plays of William
Shakespeare.

(1)) It is believed that the play ‘The Tempest’ was based on an
actual wreck of a ship.

(A) (i) only

(B) (i) and (ii) only
(C) (i) and (iii) only
(D) (i) and (iii) only

(E) Answer not known

CCSE2-2AE/2025 18 0


Highlight

Highlight


sind out the best ; o b
1}3“ l nf(‘l‘(‘n(( haﬁ(ld on th(.

There were diffe
[ndia carried out
s0 on.

Which of the following - |
statement? WINg 1s the best Inference from the above

passage :
rent streamsg of fre

L edom movements in colonial
y the moderates,

berals, radicals, socialists and

(A) The emergence of nat

. 1onalism in colonial India led to our
independence

(B) Nationalism in Indig emerged in the context of colonialism

(C) Nationalism in Indig is homogenous

(D) Nationalism in India is heterogenous
(E) Answer not known

43. Choose the correct code to fil] in the blanks :

1. The manager was known for his positive approach to decision-

making, which often led to result.

2. The Chefs dish were not only

In taste but also
elaborate in presentation.

3. The Chief Guest’s speech was so that it left the
audience motivated.

4. The Student’s decision was based on the
evidence, which made the outcome of the project predictable.

(A) conclusive, exquisite, excellent, inspiring
(B) exquisite, excellent, inspiring, conclusive
(C) excellent, exquisite, inspiring, conclusive
(D) 1inspiring, conclusive, excellent, exquisite

(E) Answer not known

CCSE2-2AE/2025 i 0
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- ‘adhoc’ committee?
44. Which of the following clearly describes an ‘adhoc’ committee

(A) A committee that meets regulal‘ly

(B) A committee formed for a specific purpose and dissolved aftey

that purpose is achieved
(C) A committee with a permanent layout
(D) A committee that oversees all organisational activities

(E) Answer not known

45. The word “Agenda” refers to

(A) A type of clothing

(B) A form of entertainment

(C) Alist of item;s to be discussed
(D) A scientific theory

(E) Answer not known

46. The Tamil Nadu Physical Education and Sports University

(TNPESU) began to function in , to promote sports and

culture, harnessing talent at the grass root level.
(A) 2015 (B) 2007
(C) 2005 (D) 2010

(E) Answer not known
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47,

A(‘(‘Ol‘dll]g 1.() [)]“I M()ntﬂgu(\, “W()m(\n are not ()nly (lql_l“! iIn |nt"“|gf'fl('(‘

to men, they have in reserve the genius of humaness, the highest
form of intelligence. Man proceeds by analysis to study a problem,
whereas women can even grasp it intuitively in its entirety”.

What does the above passage imply?

(A)

(B)
(©€)
(D)
()

Equality in India
Role of women in India

Innate Intelligence of women
About Dr. Montague

Answer not known

48. Passage: The school’s annual science fair showcased student

projects, many experiments focussed on environmental
issues. The judges awarded prizes based on creativity
and scientific accuracy.

Question : Based on the passage, which of the following are true?

(a) The science fair only displayed art projects.
(b) The science fair included experiments about the environment.
(¢) The judges focused on students’ fashion sense.
(d) The science fair is held every two years.
(A) Only (a)
(B) Only (b)
(C) Only (0)
(D) Only (d)
(E) Answer not known
CCSE2-2AE/2025 21 )
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49, Select the correct parts of speech for the underlined wo

He makes rather a fuss about ordinary things
(A)  Adjective

(B)  Adverb
(C) Noun
(D)  Conjunction

(E) Answer not known

50.  Select the correct meaningful sentence from the following :

(A)  The wages of sin are death
(B) His wages 1s Rs. 1,000 a day
(C) Measles are a disease

(D) Politics has divided the country

(E) Answer not known

51.  Fill in the blanks with the correct form of the verb.

She
yesterday.

(1s) tired because she (clean) the house

(A) is, had been cleaning

(B) was, have been cleaning

(D) is, has been cieaning

(E) Answer not known

CCSE2-2AE/2025 22 0]
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52. Fillin the blanks using the correct words given in the optio

: o .
Children like to o crispy snacks. But the author in

seventeen oranges was very fond of _____ oranges.
Eventually, he was forced to __all the
including .

1. eating

2. swallow

3. munch

4.  pips

5. chunks

(A 21453 B) 23154

(C) 13245 (D) 31254

(E) Answer not known

53. Which of the following statements are true about Jawaharlal
Nehru?

(1)  He wrote the book “Glimpses of Indian History”.

(1) He was the First Prime Minister of India.

(1) He 1s considered to be the architect of the modern Indian
Nation-state.

(A) (@ only

(B) (1) and (iii) only

(C) (@) and (ii) only

(D) (1) and (iii) only

(E) Answer not known

CCSE2-2AE/2025 23 (0
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94.  Arrange the jumbled statements 11 logical fo € the

correct order. _ o »
o motif of artistic expression,

(a) This shift has challenged for th ok owledged by i

art is primarily 3

(b) COI]temporary
interdisciplinary nature.

() Apparently, the boundaries
connections are merged for good.

(d) As a result, artists are now €Xp

petween different  artigt;,

loring new forms of creatiy,

collaboration.
&) (b), @), (a), () B) (a), (©), (b), (d)
(©) (@), B), (©, (a) D) (), (@), (d), (b)

(E) Answer not known

55. In the following sentence ordering, the first (S1) and sixth (Sg)
sentences of a passage are already provided. The middle foyy
sentences are shuffled up; they are labelled P Q R & S. Rearrange
these four sentences and choose the correct order.

S1: The study of intellectual history provides significant insights
into the development of human history.

P: This however, understands the historical context in which
these ideas emerged.

Q: Intellectual history often involves understanding the evolution
of main concepts and their impact on the society.

R: Consequently interpretations of these concepts can widely vary
depending on the researchers’ perspective

S: Moreover, these concepts are frequently revisited and,
reinterpreted over the period.

S6 : Essentially, it seeks to enhance the complex intersection
between ideas and their socio-cultural milieu.

(A) 81,5,Q,P,R, S6 (B) S1,Q,S,R, P, S6
(C) S1,R,P,Q,S, S6 (D) S1,P, S, Q, R, S6
(E) Answer not known
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56. Which of the

using a cause-effe

Sentence 1

Sentence 2

(a)

(b)

(c)

(d)

(A)
(C)
(E)

l'()llnwing 18 the best synthesis of the two sentences

ct mlationship?
~ The €Ompany decreased its product prices.

Sales increased gradually.

Th.e company decreageq its product prices, which caused sales
to 1ncreage gradually,

The company decreased its product prices, so sales increased
gradually.

The company decreased its product prices and sales increased
gradually,

Sales increased gradually as a result of the company

decreasing itg product prices.

(a) (B) (b)
(c) (D) (d)
Answer not known

" . o |puy 5 : ?
57. Which includes an apostrophe indicating the possessive form?

(a)
(b)
()
(d)
(A)
(C)
(E)

Our child’s busy

Mr. X’s new bag is ready
Mrs. X’s got her bag
The child’s slept

(a) ®B) (b))
© D) @
Answer not known

CCSE2-2AE/2025 5
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He hasg gone to the railway st

(A)
(B)
(C)
(D)
(E)

Frame a question to get the following
Why

answer :

F)

ation to see off his cousin.

Why has he gone to the railway station?
Why he went to the railway gtation?
Why he go to the railway station?

Why have he gone to the raillway station?

Answer not known

59. Passage: A rural community lacked access to reliable internet ang

digital devices. Local schools struggled to ini.:egrate
technology into their curriculum and small businesses
found it difficult to compete with online retailers,
Community leaders proposed setting up a shared digita]
center, but residents feared the potential for increased
surveillance and data misuse.

Question : Based on the passage, which of the following statements

(a)
(b)

(c)
(d)

(A)
()
(E)

are most likely true?

The digital divide is primarily an urban phenomenon.

The community is experiencing both economic and educational
disadvantages.

There is complete agreement on the need for a digital center.
Concerns about privacy are hindering efforts to bridge the
digital divide.

Both (b) and (d) (B) Both (a) and (b)

Both (a) and (d) (D) Both (b) and (c)

Answer not known

CCSE2-2AE/2025 26 ¢
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60.

61.

62.

63.

Fill in the blank with the suitable word :

“The pupil was asked to ____the mistake”.
(A) correct (B) condone
(C) clarify (D) rectify

(E) Answer not known

Choose one word to substitute “Creature having both male and

(A) Omnigenous (B) Queer
(C) Uxorious (D) Hermaphrodite

(E) Answer not known

Choose the correct answer by word creation

What is the negative case of consistent?

What is the negative case of embark?

(A) unconsistent, inembark (B) inconsistent, disembark

(C) inconsistent, unembark (D) disconsistent, nonembark

(E) Answer not known

Expand the term IPCC.

(A) International Pollution Control Council

(B) International Panel of Climate Control

(C) Interim Panel of Climate Change

(D) Intergovernmental Panel on Climate Change
(E) Answer not known

CCSE2-2AE/2025 217 (1)
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\ : hing column ‘A’ and ‘B,
64.  Choose the correct ‘synonyms by matching col

Column - A Column - B
(@) Mourn 1. Pinnacle
(b) Veil 9. Search
(¢) Crown 3. Anguish
(d) Quest 4. Conceal

@ ® @© @

(A) 1 2 3 4
B) 3 4 1 2
©€) 2 3 4 1
D) 4 1 2 3

(E) Answer not known

65.  Choose the right answer among these :

Which are the following statements are true according to Nadia
Bush?

1. The house seems to be alive at day.

2. The poet was often tempted to go inside the house.
3.  Besides the house, there was a tree.
4

The tree is growing faster.

(A) 1only (B) 2 and 3 only
(C) 3 and 4 only (D) 1 and 3 only
(E) Answer not known
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66. Passage: Reforestation projects restore degraded ecosystems.

They increase biodiversity and improve air quality.
They also enhance water retention. These efforts
support long-term environmental sustainability.

Question : Which of the following statements best support the

(a)
(b)
()
(d)
(A)

(©)
(E)

claim that reforestation is beneficial?
Reforestation projects decrease biodiversity.
Reforestation projects restore degraded ecosystems.
Reforestation projects improve air quality.

Reforestation projects enhance water retention.

(b), (a), (c) (B) (b), (d), ()
(b), (), (d) (D) (a), (b), (©)
Answer not known

67. Which of the following statements are NOT characteristic of a
formal letter?

(a)
(b)
(c)

(d)
(&)
(B)
(€)
D)
(E)

Use of professional language.
Clear and understandable structure.
Use of slang or unprofessional expressions.

Convey official information

(a)
(b)
(c)
(d)

Answer not known
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68.

69.

70.

71,

Which one of the following has a correct infinitive?
(8)  She is bold enough to take decisions

(b)  She is bold enough in accepting challenges

(¢)  She is bold but afraid of snakes

(d) She is bold enough to taking decisions

(A) (a) (B) (b)
©) (o) (D) (d)
(E) Answer not known

Choose the correct answer for the underlined words.

I heard of his having gained a prize.

(A) Gerund (B) Compound Gerund
(C) Infinitive (D) Participle

(E) Answer not known

Identify the participle in the given sentence :
“The barking dog kept the neighbours awake all night”.
(A) barking (B) the

(C) kept (D) awake
(E) Answer not known

Choose the correct question tag for the sentence given below.
Let’s all go to the beach this evening,
(A) do we? (B) don’t we?

(C) shall we? (D) aren’t we?
(E) Answer not known
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passage (72-74) .

q-seval centers’, g
Sil-oﬂmlines citizen ae of Tamil Nadu's e-governance,

. . Cesg t y
online delivery of docum Y0 essential services. These centers facilitate
°nts like birth certificates and land records.

reducing bureaucratic "
aim to enhance tranqidays‘ Integrated with state databases, they
“Parency and minimize corruption. However,

challenges persist in epaqp; _
tions. Digital 1i SUring consistent service quality across diverse
Joca - gital hiteracy : q y &ac

factor impacting imple among rural population remains a crucial

maintenance require (mi‘“htatmn_ Further, system integration and
' ‘Ontinuous y : _

The long-term success ¢ investment and skilled personnel.

of e-sevai de Nngs . ;.
intaini pends ) divide
and mamtaining a robugt infrastrult?tulf}: e Eptiging S g

What 1s the primar : . ; :
12 9 y function of e-sevai centers as mentioned in the
passage.

(A) to provide free internet access to rural population

(B) to facgltate online delivery of essential government services
(C) to train government employees in digital literacy

(D) to manage state-level databases

(E) Answer not known

73. The passage implies that the long-term sustainability of e-sevai
primarily relies on;

(A) increasing the number of physical e-sevai centers

(B) focussing solely on urban areas

(C) bridging the digital divide and maintaining a robust
infrastructure

(D) reducing the number of available online services
(E) Answer not known

74. In the context of the passage ‘streamline’ means;

(A) Complicate (B) Simplify
(C) Delay (D) Increase cost
(E) Answer not known
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5. Scenario:  You are a newly appointed Civil Servant in th,
Department of climate change.
Question:  You are asked to communicate the department’g

initiatives to the public.

Which of the following collocations would be most effective in yoy,

communication strategy?

(2) to spread climate misinformation

(b)  to raise public awareness about climate change impacts
(©)  to minimize the urgency of climate action

(d) to engage in stakeholder consultations

(A) (a) and (¢) (B) (b) and (d)

(C) (b) and (c) (D) (c) and (d)

(E) Answer not known

76. Identify the incorrect pairs of Idioms and phrases in the given pairs.

1.  To brow beat —  bully

2.  Tobe at large —  toblame each other
3. To knit the brow —  tofrown

4. Topassthebuck -  free

(A) land3 (B) 2and 4
(C) 1and?2 (D) 3and 4

(E) Answer not known
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Which of the following phrases can be quoted as an example for
sound images from the poem “Sea Fever”?

1.  Wheels kick
2.  Seagulls cry
3. Clouds flying
4. Running tide
5.  Sails shaking

6. Wind’s song
(A) 1,2and3 (B) 3,5 and6
(C) 2,4and6 (D) 3,4and 5

(E) Answer not known

78. Choose the correct ‘Synonym’ by matching column ‘A’ and ‘B’.
Column - A Column - B

(a) Champing 1. Confusing
(b) Perplexing 2. Listening, heading
(¢) Thronging 3. Munching, chewing
(d) Hearkening 4. Crowding
@ b © @
A) 3 1 4 2
(B) 2 3 1 4
) 1 2 3 4
(D) 4 1 2 3
(E) Answer not known
CCSE2-2AE/2025 33 (0
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79. Passage: Crypto currenc

Question : Which of the following S

(a)
(b)
(c)

(d)

(A)
©
(E)

80. Passage: First, water is heated. Then, it boils.

Question :

(a)
(b)
()
(d)
(4)
(©)
(E)

nal stocks both inVOlv
are highly volatne
th are susceptible to

ies and traditio

“

investment. Crypto cir;fizcl%
: tively sta

e Ibeit differently

market fluctuations, a
tatements accurately compay,

'bed in
crypto currencies and stocks as descri the

passage’
ve no investment

Crypto currencies and stocks invol

Crypto currencies and stocks
i both immune to market

Crypto currencies and stocks

fluctuations

‘Crypto currencies and stocks react differently to market
fluctuations.

(b) and (d) (B) (a) and ()

(d) and (a) (D) (d) and (0)

Answer not known

Next, steam is

produced. Finally, the steam cools and condenses.

Which of the following statements accurately describes
the sequence of events in the passage?

Steam is produced before the water boils.

Water is heated before it boils.
Steam cools and condenses after it is produced.

The process starts with the cooling and condensing of steam.

(a) and (d) (B) (d) and (b)
(c) and (a) . D) (b) and (c)
Answer not known
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i 1. ‘Is she not changing her dresg’
} Which of the following is the correct statement of this interrogative?
i (A)  She will not change her dress
i (B) She was not changing her dress
I (C) She will change her dress
(D)  She is not changing her dress
& (E) Answer not known
82.  Transform the following sentence into a negative sentence.
_ “He is too shrewd to be cheated”
(@) He is not shrewd enough to be cheated
(b) He is so shrewd that he cannot be cheated
(c) He is not too shrewd to be cheated
(d Heis shrewd
A) (a (B) (b)
© (o | ‘D) @
(E) Answer not known
83. Convert the exclamatory sentence :
“Had she known it earlier” into an assertive sentence.
(a) She knew it earlier
(b) I wish she had known it earlier
() Knowing this earlier is beneficial -
(d) She should have known it earlier
A (a B) (b)
4L). (& D) (d)
(E) Answer not known
CCSE2-2AE/2025 ;. 30 ()
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84,

85.

86.

Translate :
LDEMeUSET Liméd enmest

: options which beg
Choose the correct English translation from the 0p t

conveys the meaning of the given sentence.
(A) The birds are flying

(B) Birds fly

(C) The birds were flying

(D) .The birds will fly

(E) Answer not known

What_ is word for word translation called?

@ Literary translation .- Literal translation

(©) Administrative translation (D) Machine translation

(E) Answer not _knoWn

Pick the correct English word for greigeflnGs from the options

given. -

(AN BEitnd :
(B) Don’t indulge me
(C) Don’t talk tome
(D) Don’t make me do what I don’t want to
(E) Answer not known '
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87. A famous celebrity wants to experience a normal day without being
recognized, visited a local bookstore.

Which of the following best describes their state?

(A) Ubiquitous (B) Ostentatious
(C) Incognito (D) Gregarious
(E) Answer not known

88. Choose the correct “Synonym” for the underlined word.
“Chuck is mendacious about his vegetarianism”.

(A) Untruthful (B) Proud
(C) Unhappy (D) Clear
(E) Answer not known

89. Choose the antonyms of the following underlined words.

The driver known for his cautiousness was surprised by the road
traffic. As his talent was innate, he had to drive slowly.

(a) Gloomy, active

(b) Dim, retain

(c) Reck]essn.ess,- acquired

(d) Subtle, intolerant ;

@A) (@) B) (©

©) (a) D) ()
(E) Answer not known

CCSE2-2AE/2025 317 ¢
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90. What is g potential benefit of ‘future proofing’ busin

(A)  Increased short term profits

(B) Reduced need for innovation

(C) Enhanced resiliation to market changes
(D) Decreased consumer satisfaction

(E) Answer not known

9L, — ___is a prolonged talking by a senator or senators for the

Purpose of delay, in the hope of forcing the majority to give up the

Proposal being debated.
(A) Election (B) Caucus
(C) Filibuster (D) Ratification

(E) Answer not known

92. The term ‘Matronymic’ means

(A) A name from the name of a mother
(B) Patronymic

(C) A name after famous peréonalities
(D) Maiden name

(E) Answer not known
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passage

Question §

The Tamﬂ Nad :
mitigating the j 4 climate change mission focusses' on
Initiativeg Ref, mpact_ of climate change through various
sinks anq rest OreSt.atl‘On projects aim to increase carbon
plans protecy ore biodiversity, Coastal zone Management
Promotign vau]nerable shorelines fr?r,n rising sea-levels.
wind Power Tasalle energy sources, like solar and
Community-b, reduce dependence on fossi.l. fuel.s.
local populat; Azed a‘ilaptation programs build resilience 1n
Ons facing climate - related challenges.
Match the Initiativeg of the Tamil Nadu climate change

mission j :
58100 I Column A with their expected outcomes 1n
Column B,

Column A

(a) Reforestation projects

(b) Coastal Zone

Management plans

(c) Promotion of renewable 3. -

energy

(d) Community-based 4,
adaptation programs

Column B
1. Reduces reliance on fossil fuels

2.  Enhances local resilience to
climate impact
Increases carbon absorption and

biodiversity

Protects shorelines from rising

sea levels

@ ® © @

(&) 2
B 1
€ 3
D) 4

4 1 3
4 2 3
4 1 2
3 1 2

(E) Answer not known
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94, Select the correct Passive forms of the sentence :

“The Manager wil give you a ticket”.

(@) A ticket will be given to the Manager by you.

(b) A ticket will be given to you by the Manager.

(¢©) The Manager will be given a ticket by you.

(d)  You will be given a ticket by the Manager.

(4) (a) and (b)

(C) () and @

(E) Answer not known

95.

(@) This pen is blue
(b) Please help me

(¢) How are you?

(d) How well she dances!

(a)
A) 3
B) 4
©) 3
D) 4

(E) Answer not known

CCSE2-2AE/2025

(b)
2

3
4
3

1
I
il

2

(c)

(B) (a) and (c). |
(D) (b) and (c)

Match the following with correct type of sentence :
Column A

Column B
Interrogative
Exclamato'ry

-~ Declarative

B e

Imperative
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Identify the i
96 y incorrect sentence/sentences, according to the given
statement.

Alfred Nobel was considered ag

1. Europe’s richest Vagabond.

2. Achemist, engineer and an aspiring poet. " 1V

3. A man who felt guilty for having invented highly destructive
things.

4.  Felt guilty for having earned so much money.

(A) 3and4 (B) 1and 3

(C) 4 only (D) 2 only

(E) Answer not known

97. Identify the Incorrect Statements.

1. Mithali Dorai Raj is the first to score seven consecutive
centuries.

2.  The mother tongue of Mithali is Tamil.
3. Mithali is honoured with Padma Bhushan award.

4. Mithali is hicknamed as “Tendulkar of Indian Women’s
Cricket”.

5 Mithali is not encouraged to play cricket by her family

members.
(A) 1, 2 and 5 are incorrect (B) 1, 3 and 5 are incorrect
(C) 2, 4 and 5 are incorrect (D) 2, 3, 4 are incorrect

(E) Answer not known
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98, Find outthe answer and-&ll up the blank :

You want to see him?

(A)  Beyond all question
(B)  Over head and ears
(C) Out of the question!
(D) The ins éhd outs

(E) Answer not known

ﬂ 99.  “Will you tell me who is there?” is an example for
(A) Direct question
(B) Indirect question
(C) Exclamation
(D) Basic formation

“ (E) Answer not known

100. Fill out the suitable inference :
She read the message and sighed, hinting at her
(A) achievement
(B) proud moment
(C) disappointment
(D) excitement

(E) Answer not known
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UGS~ ~ Clung, Siley LHmb uEH-@ — Hpardley

OO ML D& Eenrs @ HiTanTHey

Part-B - Geners] Studies and Part-C - Aptitude and

Senméser : 101-200

Mental Ability

Qurss wHriGuaTser : 150

Questions : 101-200 - Total Marks : 150

—

101. Which among the following statement(s) is/are true about Indian
National Congress?

(1)
(i1)

(111)
(A)
(B)
(©)
(D)
(E)

The Father of Indian National Congress is A.O. Hume.

The first President of Indian National - Congress was
S.N. Banerjee.

S.N. Banerjee founded Indian National Liberation Federation.
(1) only

(1) and (iii) only

(1) and (ii) only

(11) and (iii) only

Answer not known

Gemeueuameupmier @i Cosflws smmudyevr updlu  sfwrer  sabmi/
sgapnsemers Csirey QFs :

1)
(i1)
(iii)

@pdw Caflwus smudraller gheas A.O. aflyib <peunt.
QpHw Csdlws smudyedlear s st S.N. urerie ey,
S.N. urenited @pHw Casélw ApHs@me S@wlieu HoedarmT.

A) @ orpw
B) () wpmbd (1ii) wL G
©) () wopud (i) wr Gud
(D) (1) wpmp ({il) wL
(E) eev Qzflweiicrene
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102. Tamil Nadu Government celebrated April 29 to May 5 to mar Birth

anniversary of

(A) Pavendar Bharathidasan

(B) Perunthalaivar Kamarajar

©) Pasumpqn Muthu Ramalinganar
(D) Peraringar Anna

(E) Answer not known

s0lps oirs GJ‘ILI-U‘éD 29 wpsd Gw 5 < Csd ey QeumerLw GpHS Hrenar

Qesrraim_rrqu_@

A)  urCaupsi LrTdgrser

B) Qu@bs@@air smoFTeT

(C)  uwsbQuer wsgiTTL ks
(D) Guydeit o amrewrm

(E) e QsNweddrenad
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103. Match the following with the schemes

(a) Mathi Bazar 1. Clean energy

(b) Pasumai Veedugal Thittam

2. Skill development
(¢ Naan Mudalvan 3. Poverty Eradication
(d) Aajeevika 4 SHG

@ ® @ @

Y8 - T R
@y 4. L .2 B
€. 5 B B
15} B SRS R AN

(E) Answer not known

Gereumeuareupern dieupder HiLmias@pLer GUTBHSSLD

(8) wd ugmi 1. agswrer eflsss
(b) usew AipHaseT g,h'_m 2. Fpar Cubur®
(c)  prar (pgeeen 3. eaupenw @iy
(d) ogellsm 4. &sw 2 gEGHW

@' b)- ©. W
A) 3 1 2
B) 4 1 2
@1 g
D) 4 3 1
(E) oo Qsflucidena

N s W e
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104. Match correctly the books and the Author name :
1. Va.Se. Kulanthai Samy

Ki.Va. Jeganathan

Karirathina Kavirayar

(a) Thirukkural Uraivalam
(b) Thirukkural nunporul malai 2.
(¢) Thirukkural Araichi pathippu 3.

(d) Vazhum Valluvam 4. Thandapani Thesigar

@ ® @© @
A4) 4 3 2 1
B) 1 g. 8 4
(C) 4 2 1 3
D) 1 3 4 2
(E) Answer not known

Hsgsmismanub Afwufer Quuepub sflwurst AUIEHSSED :
() SmsEper 2 ayesens L. a.Os gypmsg smd
(b) dmseper parQunmar vrwa 2. &.eum. QREHBETSET
(c) AmEGDer QT u@uq 3. sriiygdens selgmum
(d) aumywb QUGT(@ER6ULD 4. sam_urenfl Csélai

@ ® @© @

A 4 3 2 1
® 1 2 3 4
©€) 4 2 1 3
D) 1 3 4 2

(E) ol QsAweidana
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105.

106.

The cost of 15 kg of sugar is Rs. 255, the cost of 17 kg of tea is
Rs. 1,615 and the cost of 929 kg of rice is Rs. 572. What is the total

cost of 18 kg of sugar, 21 kg of tea and 27 kg of rice?
(A) Rs. 2,442 (B) Rs. 3,923
(C) Rs. 3,003 (D) Rs. 2,932
(E) - Answer not known %

T

15 8.8 siss@ren o m. 255, 17 .8 wsgmer o @. 1,615 wdpd
29 8.8 <flfluler e em. 572 erafles 18 4.4 sisser. 21 §.48 wesgner
oppid 27 8.8 <A eduapfar Qurss e eemer?

@A) @ 2,442 (B) . 3,923

€) 3,003 ' )R 2,932

(E) oo Asflucidme -

The income of a person is increased by 10% and then decreased by

10%. Find the change in his income in percentage.

(A) reduced by 1% 7 - (B) increased by 1%

(C) reduced by 2% (D) increased by 2%

(E) Answer not known

om pufler emwrand 10% 2 WirGgLUL B lﬁlm@ 10% G@nssuLBSDS
arafle) SjumeLW aipLTagSd UL LTHD AEssDSE STENS.

A) 1% gondpg | (B) 1% s(hdng

©€) 2% @onépg (D) 2% &8s

(E) &ferL Qsflweicrena
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107. Which of the following statements are

: : be an Electro
Essential properties of Magnetic Materials 0 magnet‘
I.  Narrow hysteresis loop
II.  High p_()a_xjmeability

i
ITI. High coercivity
IV. Low retentivity

(A) 1 alone correct

(B) Both II and III are correct
(C) 1II, III and IV are correct
(D) I, II and IV are correct

(E) Answer not known

sfluner sappsmers Csib@s0

Bersmpgmiser surfest LuaL@D sTpstl QurGLset duDHlGSEs Ceisny,
LI & 6T,

L. snsorar sthsssLés samet
IL  8g ea@@aper

III. B smps feEsdme

IV.  @ep gssmaniuys Hper

A) T woEo s

(B) I wpyo 1T &

(C) I, III wpgs IV #h

(D) L II wpgo IV &M
(E) e Qsfweldrenas
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Choose the tru
108 = Statement(s) about the Fundamental Duties :

(1) To protect the SOVEreignty

(2)

Unity and Integrity of India.
To protect ang Improve the Natural Environment.

(3) To preserve the rich heritage of our composite culture.
(4)  To safeguard private property.

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1), (2) and (3) only

D) (2), (3) and (4) only

(E) Answer not known

QAUUDLSE sLs&eT updlu sflwuners apilaer/sppsmas Carbos® -

(1) @bdureler @emuwiramenio, @hmew LHHD  GEHELLULITELL
UTGISTLLG). .

(2) Qupass G urgsTiug Loﬁ)gufn CubUpssies!-
(3) mbaperLw I.II'I'!]'LbUI’ﬂU.JI‘EJ&SGDGTu_]'Lb, LIGTp&L) LIETLITLanL WD UTSISTLUSI.
(4) saflumr &@memému LTSS
@) (1) opgd (2) vt o
(B) (2) wpgd (3) w -G
©) (D), (2) wppd (3) LLED
D) (2), (3) wpgid (4) LLED
(E) eflen Qzfweilcrana

- CCSE2-2AE/2025 = 0
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109. Match correctly the systemslldeologl

names :
(a) Report of Ryotwari System
(b) Panchamer Schools as
Adidravida Schools ;

(c) Leader fought against
Patriarchal Chauvinism

(d) Theory of Justice

@ @® @© @
Aa) 2 4 3 1
(B) 2 3 1 4
(C) 2 1 4 3
D) 2 4 1 3
(E) Answer not known

Gemeumlb S Liiser wHHD SHSHS®ET A
gsflwuns QurmEss
(@) gwuseurf L sdéams

(b) ugpsor udtaflsamer HSTreslit 2.
LT ST eTam enpLiLg)

(c) %Wnﬁéa Cuilereunsgams 3.
adliiss sameeui -
(d) B8s Casrun® ; 4.

@ B @ @

Aa) 2 4 . 3 1

(B) 2 : A 4

©€) 2 1 4 3

O 2. &% 8

(E) &eor Gpflweldena
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with their correspolldl
I
§

Thanthai Periyar

Thomas Munro anqg
Francis Ellis

John Rawls

Ayothidasar and
Singaravelar

5 @ rLLenLw Qumm‘&‘bLa

gpag Quflwmi

&6 GO WwHmib
Liprendlen eredlei

ST TG

SICundlgrer wHmib
frusryGeuer
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110. Which of the following aye correctly paired?

(1) Kurinji
(2) Mullai
(3) Marudam
(4) Neydal
(5) Palai

&) D), (), (3), 4), (5
B) (@), (3), @)
©) 3), ), ()
D) (@), (@), (5)

—

—_—

(E) Answer not known

YereumeuaTeupmier eraeu FMwima dun@ﬁﬁuwmm?

(1) &dlesél
(2) oo
(3) wmsd
(4 Gpisd

(5) umere

A) (@), (2), (3), 4), (5)
B) (), 3), 4)
© 3,4,
M) (1), 2), (5)
(E) e Asfuaidme
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Wild-cock
Lark
Owl

Pigeon

Safl

&T_(H& Camf
QUITGTLDLIMIg.
YbOS

ymm
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| 1'.l |
i 'I" . : ‘ ) G in” = Ident]fy th
‘i' 111. “Iruppu Mugam Seriththa Aenthelil Mazapr. 5 ﬁgllr&

il | of speech used in the above Lin®

|
‘i (A) Simile

| (B) Metaphor

I (C) Personification
" (D) Irony

(E) Answer not known

“Qriy wsb Qsflss FHESD wEder @uumalld Luleny euggy
I e
(A)' 2_GuenNLd cg{@ﬂ

B) o (aus e

©€) spEHGUHD S e
D) Gauppentd e
(E) &fer Qzflucioama
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y12. In 2 dice if 1 is opposite to 4 énd 2 1s opposite to 5, then
(A) 3isadjacent to 4 anq 6
(B) 31sadjacent to 5 and g
(C) 21s adjacent to 3 and 6
(D) 1is adjacent to 4 and 6

(E) Answer not known | ; |

g0 vseL i 1&g adCy 4 whmid 266 afCy 5 e arerg arafle
&) 3 ey 4 wppb 66E mCs 2 6merg)
- (B) 3 serg 5 wpmib 66@ omGs 2 drerg

(C) 2 <yarg 3 womibd 65 (HCs 2 drears

D) 1 syarg 4 wHMD 6&E <i(HCs 2 drerg

(E) oferr Qsflweldane ,

TN

CCSE2-2AE/2025 53 ¢ i
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114. Arrange the events in chronologl

CCSE2-2AE/2025

113. Reason and Assertion : olitical Leader, Gopal Kt'iah
g

Assertion [A] : Besides being aeg’ﬂ gocial Reformer.

Gokhale was @ gr nders of the disting:
f the fou «The Servants Otgulshed

Reason [R . He was one o

- organisation known &% I“dia
Society”: , but (RI ;

(A) [A] is true but [R] is false = g}gtllf [fxi]lsaendu[R[]Ri o e

(C) Both [A] and [R] are true D re false

(E) Answer not known

STIeRTD WHMID Fahml . oy e

i g T ererLien geul], &Tume :

mop (Al 1 280 S y b Frpwssers. Aoty

fer Coousnser

. . ] ‘ ITU.J
=gt [E) 3 ?ﬁgmgﬁ% nm;s&g,@jmffmu Aneiuen, B
(A)  smpm [A] ofl gammed STeRTLD [R] gy

B)  spm [A] saumy e gmyatd [R] &

(©)  @yenid snp [A] wppud srem> B o
D) @ren@id> smpm [A] OO gryemd [R] gD
(E) & Qsfweiicvened

cal order :
(1) Communal Award

(2) Gandhi Irwin Pact

(3) Chittagong outburst

(4) Poona Pact :

@ (), @, ), @ ® @, @), @, O
©) 3),©2,1), @ D) (), 3), (2), Q)
(E) Answer not known

Qerauqmid Hspejseer sreauflesiLi 2DEGS :

1) osiieuns i

(2) smpd — @ieller 2 LeLigsms
(3) &AlLsmms Ceugliy

(4) yerm @liubsD

4 @), 2),0),®

© 3,@,Q1),*

(E) e Qsflwaddene

B) (2), (3), (4), (1)
(D) (@), (3), 2, Q@)

54. ¢


Highlight

Highlight


116, Match the following -
Acts

_ - Year
(a) Tamilnadu Consumer p ;
rotect
i) Consunier A ion Act 1. 1322
(¢) Tamilnadu Consymey 1986
Protection Ruleg
(d) The Monopolies anq Restrictive 4. 1974

Trade Practices Act

@ ® @© (@
A 3 4 2
® 4 3 1
(C) 2 1 3
D) 3 1 2
(E) Answer not known

= s b

sflurer el eow Aunmsss :

FL_L_RIGET ; M

(@) sBIPETO EsTCaurt urgaTILE &1L 1. 1969
(b) msTCeunit Quissid 2. 1988
() sWPBETH HISTCumt urgETiy g 3. 1986
(d) gsGurs LHMIL SLELUILE wisss 4. 1974
BN (LPENM&EET FL_L LD
@ @® © (@
(A) 3 4 2 1
(B) 4 3 1 2
C 2 1 3 4
D) 3 1 2 4
(E) eflenL Ggrﬂmeﬁ]ma)dj
CCSE2-2AE/2025 e o
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116. The objectives of National Skill Development

(1)
(i1)

(iii)

(iv)
(A)
(B)
(©)
(D)
(E)

Council is / are

.. independence
To empower women through economic IndeP

youths for ski]

ini for
To Organise Training Programmes

development across the country

To provide monetary awards for skill certlﬁcatlon to bogg

1‘“3mployr:ablllty

To boost the productivity of the country’s workforce

(®), (11) and (iii)

~ (ii), (i1i) and (iv)

(1) and (ii) only
(1) only

Answer not known

Caflw e Cobu (s swasdar GHEGCaTET AVDS] @&MEGarerser

(1)
(i1)

(iii)

(iv)
(A)
(B)
(©)
(D)

(E)

QumpeTnsMrE H5HETD PEOLOTE waefli Gubum

S wé Gaieug

BT (PPEUGID 2 6TaT  B)EnaTEhTEMETS Hoer  CuLUTD  SieLw
LWHES S L kmisemer eflliug

Aper Cubum (§ eramdisp CuDDaHTEEHEE L6 aﬂ@ga;eh GuipmId)

- Geuemeveumuiilienu r_«mﬁa;uu(ag,gg_,m

BT ger e @plunarisafan 2 hLsHS Hpamer SFHSLLOSSIS
(), (i) wpps (i)

(i1), (iii) wHmb (1v)

(i) wpgts (i) e Ew

(1) wLEwW

eden_ GQsMwaeldana

CCSE2-2AE/2025 56 | 0
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du o
97 Whose duties are implicity taught in Thirukkural?
_ 1Irukkural?

(A) Men

B) Women
(©) Citizens
(D) The King

(E) Answer not known

Q(D&@Eﬂﬂ@ WM(HENL UL SL_END&SET LOM(LPSONES a;mlﬁlésa;uu@\é;lmg)m?

(A e
(B) wsafli
(C) @xwésd
D) =iysen

(E) e Ggflueiame

CCSE2-2AE/2025 o ' 9
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118. A, B and C start at the same directio

stadium. A completes a round

: . s
C in 198 seconds, all starting at the sai

n to run around a Circular

. 952 seconds- B in 308 secondg ang
1

point. After what time Wil

= <49
they meet again at the starting point? |

(A)

(B)

D)
(E)

©)

26 minutes 18 seconds
45 minutes

46 minuteé 12 seconds
42 minutes 36 seconds

/

Answer not known

A, B wppin C géGumt @Gy Sesuile Qsmmél @@ Ll algainmg

SIThss®S e wop s&HHl ey ‘A’ dlhg 252 edlarmgs@h ‘B’ eflins 308

damgsend ‘C dpe 198 ammgseEsd dldaper aaild @euisdr g

Crrsde Qsmndu Hoolao Qgrmdu @Lsded sbdllumiagdr?

(A)
(B)
©
(D)

(E)

26 HllL_miser 18- eflermg.&er
45 AL ruger

46 Al mser 12 efleTmig Sei
42 Bl rser 36 eflarmg ser

eflen_ Qg Mwefcena

CCSE2-2AE/2025 58 | 0
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119. One of the following is a migm skl -

1) Down’s S
) yndrorpe - Autosomal trisomy of

21st chromosome

H .
2 aemophilia - Sex Linked

(3) Klinefelter Syndrome - X0 Complement

(4) Turner Syndrome - Female with retarded

growth
(A) (3) only

(C) (2) only

(B) (1) and (3) only

(D) (1) and (2) only
(E) Answer not known

@eaunPled @eTm sauDTE CUTEmSSLILL [HeTaTg) :

1) eyl Gapur @ Cpmi — 21 augy &CrmCLNGEMAE
ghu@D = CLrGamoe

 genyGamdl

(2) adGomidun _ —  uré @eerHd SME(P®D

3) Seflens@uiLi gepur® Gomi  — XO e

(4) Lierflen geopuri@® Cpmi —  aueriEd GenarenL b LoseT

&) (3) wiEw (B) (1) wppid (3) LG

©) (@) wipw (D) (1) wpmid (2) LG

(E) e Qsflweioena

CCSE2-2AE/2025 a9 ¢
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120. Match the Column (A) with Column (B) :

(a)
(b)
(©

(d)

(A)

B)

(©)
D)
(E)

Column (A)
Theme

Judicial Activism

Column (B)
Year
1. ‘1976

7
Ethical Governance (SARC) 2 199

Restatement of Values of

Judicial life

Administrative Tribunal

@ ® (@© @

2 1 4
3 4 2
1 2 3
4 3 1
Answer not known

N R

1947

o

4. 2007

Spaar auflens (A) 2 Ler cwflens (B) evw QumBs8S :

(a)
(b)
(c)

(d)

(A)
(B)
©
D)

(E)

auflans (A)
a'aqbi;i@urrqgsﬁ
bsgeom Qswipun@

aflens (B)
@
1. 1976

< enewuie p@ph (SARC) 2. 1997
bésgiemn aurpelen wramyseflar 3. 1947

n SMé&ns
ﬂr’rajrra;g Sriiumwuib

@ ® © @

. SR 4
3 4 2
1 2 3
4 3 |

eflenL @gMwecanay

CCSE2-2AE/2025
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9. Assertion [A]

Reason [R]

HIV ;
Infect;
ection more often spreads due to

conscj ‘
Clous behavioyy patterns.

The j :
Infection of AIDS in blood transfusion

patien
s may occur due to poor monitoring

(A) Both [A] and [R] are not true

(B)
of [A]
(©)

Both [A] and
[R] are true, anq [R] is the correct explanation

Both [A] and [R] are frue, and [R] is not the correct

explanation of [A]

(D) [A] 1s true and [R] is false

(E) Answer not known

smpm [Al

sryemd [R]

aF.g.efl QAsrHm QLI@LDUIT@_ILD o emrira|eTar BHLSDF
PP STIERTONS LFe|Sns).
@résLrHo ngnmﬁmﬂa@é;@ eriutev  @smHm

Curewnnear s@reETaiLiL STETLONg 6 HLLMD.

A)  spo [A] woHmib sryerd [R] @ren@n sflurarga

B) spm [A] wopn smewd [R] @rawGn &fl, wODIO smyamd  [R]

gpm [A] ssner sflwrer efleréswmEb.

C) e@mpm [A]l wppw smemd [R] Grew@Go sf, smard [R]

smpm [A] ssner sflwrer alarésiwda

D) esanm [A] &f, HHID STyawLDd [R] seum

(E) efer Gaflweioame

CCSE2-2AE/2025
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122. Which of the following is incorrectly paired?

(1)
2
3)
(4)
(A)
(B)
(©)
(D)
(E)

Coimbatore — Manchester of South India
Madurai - Cultural capital of Tamil Nadu
Namakkal - Rice Bowl of Tamil N adu
Thanjavur - Egg city

(1) and (4)

(1) and (2)

(2) and (3)

(3) and (4)

Answer not known

Semeu(meuareupdled ergl seupTs @lanarrdsLILIL (HETaTS) ?

)

@)

(3)
(4)
(A)
(B)
(©)

D)
(E)

Carubusgn -  Qsarelpduredar wmarbaevL
LDG6DI] - pOlpprLgen U (Hg S®OBSILD
BTD&ESE - galﬂ@ai‘é;ﬁ;ﬁf Gﬁ;ﬁ)&m@@mm
BEHFTQUIT — (BDII'_&DL_ B&JD .

(1) wpmid (4)

(1) wpmid (2)
(2) wpgid (3)
(3) wpmid (4)

aflen Qafweldame

CCSE2-2AE/2025 62
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193. Assertion [A] ;

All opiniong are here, There is nothing

that is not 1n it”.

Reason [R] : Many of Thiruvalluvar’s ideas were innovative and
revolutionary compared to the prevailing policies of
his time,

(A) [A] iS true but [R] iS false

(B) [A] is false but [R] is true

(C) Both [A] and [R] are true, [R] is the correct explanation of [A]

(D) Both [A] and [R] are true, and [R] is not the correct

explanation of [A]
(E) Answer not known
gapm [A] g “erédeomyy Quim(mEHd @B giar,
@seruned Gdoers eri@unmes Widame”
smyeord [R] dmavet@nauflear  smsgseid Lo el STOSED
BHleveflws QararanssGerm(H U@L Gurg)
LZlenwnerenal, LTl Sl&ronameme.

(A) [A] &fl, gpemme [R] seum

B) [A] sy, ame [R] #f

€) [A] wpppd [R] @rean@w &fl, wppn [R] aeug [Aledne sflumen

N eT&H&SOMELD i

D) [A] wpmd [R] @rewGwn &fl, whmibd [R] eériug sapm [Aledhe

gflwmer eleT&sLOE06)

(E) &en Qgflweicbened

CCSE2-2AE/2025 B . 0
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124. P is elder than Q. R is elder than @ but younger than P. S ig elde

than P but younger than T. Who is the youngest”
(A) R
B) T
© Q
DO s

(E) Answer not known

P aaruar Q g oL Qufluai. R arériau Q-eveu el Uit eygnpg

Pg oL Adweur. S LA - g of Quilwest germd Te el Aflues,

@éle wrir WBasHBlweur?
A R
@B T

© Q
D) S

(E)  der Qsflweideme

CCSE2-2AE/2025 64
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195. Which of the statement(s) 1s/are correct?

(1)

(11)

(i)

(A)

(B)
(©)
D)
(E)

Satakarni ;
D1 Was First Satavahana King and not the powerful
Satavahana ryley

His
y .acblevements are not described in the Managhat
Inscription,

His name was inscribed on one of the gateways of Sanchi
stupa and referred to as “Iord of Dakshinpatha”.

(111) only

(i) and (iii) only
(1) only

(1) and (ii) only

Answer not known

L6 Qar@&suul L spmn/smpmiseiie ergl/erens sflwurarena ?

(i) essiefl sgeunsear wararisefd psd ATET mmgjm 5o F68 mMibs
&rrgeurrasm U Swimerit e,
(1) SQHELW EFTSMESET DTS 56'1)61qu® @ﬂﬁj@l_uu:_eﬂd)mw.
(ili) e&mgpdl  cogmiuler mie el & gapler TS Gu.tur’r
7 Qumhssiiul Harerg  WHMID “g,l_élsuﬁrurrg,ggﬁm @epeuer”  eTeND
AU LUOSDS-
(A) (ii1) L@
(B) (i) wpmd (111) w G
(C) @) wi@w
(D) @) whmib (11) LB
(E) oo Qsfuiciidena
65 ()
CCSE2-2AE/2025
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126. Find out Incorrectly paired :

(1)
(2)
(3)
4)
(A)
(B)
(©)

(D)
(E)

Commission

NHRC

Central Information Commission

Central Vigilance Commission

‘Central Bureau of Investigation

(2) and (3) only
(1) and (2) only
(3) and (4) only
(2) and (4) only

Answer not known

sauprer @evamrerw By :

(1)
)
(3)
(4
(A)
(B)
(€)

(D)
(E)

DETIILD [ S| GLOLIL]

Csélw waflg o favvser Q{,mmmﬁ
FE W FH6UD p,eneTID

&S wid %G&aresrrﬁﬁaﬂﬁq <@ GRTUILD |
SHWL LOETTI6 HenLLiL

(2) wHmib (3) WL B

(1) wpgd (2) we @b

(3) wHmb (4) L b

(2) wpmibd (4) L Eb
clan Gz flweldene

CCSEZ2-2AE/2025 66
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1 Assertion [Al 1 Quality of life of
T Ol people living in rural areas of
amil Nady hag ;
Improved
Reason [R] 1 The Tam;
. amil Nadu state has introduced a flagship
ro :
gramme called Tamilnadu Village Habitations
Improvement Soheme.
A) [Al1s true and [R] is false
Both [A .
(B) oth [A] and [R] are true; and [R] is the correct explanation
of [A]
©) [Al] 1s false; [R]_is true
(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] is correct
(E) Answer not known
go. D) [A] SOIDBTLtq 61 Hyroriyprisafled QUT(HLD D&& 6T 6ot
aumps&amss sTb Gbul Hidrearg.
smyeod [R] : SOPETH Sipe SOPETE  Smo ampedl. Gubur-GE
B @ gpper@ng HLLEDS b psruSE LTS
A)  [A] & wppid [R] seup)
(B) [A] wpmid [R] @rem@®@Go &l wHmd [R] ererug [A]l 68 gflwrer
efer&asLD ' '
(C) [A] poumys; [R] &
D) [A] wppid [B] GrangGe o ame [R] adug [A] &e fure
acfleréaLD @dae GTarug) &l
(E) eflan Qsifluaiiéoma
CCSE2:2AE/2025 67 ' 0
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128. Arrange the following events in chronological 0

(@)
(2)
3
(4)
(A)
(B)
(©€)

D) -

(E)

rder.

Civil disobe.dience movement
Sepoy Mutiny

Vellore Mutiny

South Indian Rebellion

(2), (3), (1), D

(1), (2), (4), (3)
(4),(2), 3), ()
(4), 3), (2), (1)

Answer not known

YlebTeu (mLb ﬁq@@amm& sre auflensliLig pepliLbHSS!S.

(1)
@
3)
@)
(A)
(B)
(©)

(D)
(E)

5L oty usstd
é]llll_ll;ru'_l SOSLD
Ceugrit He&Ld
QgerafpHwis Ly
(2), 3), (1), (4)

(1), @), @), 3
@), @), (3), (1)
@), (3, @), (1)
e Apfuaddama

CCSE2-2AE/2025 - 68
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129. Seats for Mathematics, Physics and Biology in a school are in the

ratio 5 : 7 : 8. There is a proposal to increase these seats by 40%,

50% and 75% respectively. What will be the ratio of incréased seats?

(A) 2:3:4
(B) 6:7:8
) 6:8:9

(D) None of the above

(E) Answer not known

e uaallle seaflsn, QubGued whmbd e wlfiued PHu LT RISEHSSTET
@umiser 5 1 7 : 8 eram eﬁlélggglm Si@WHgETTE. QS GLhEmeT pepGu
40%, 50% wpgis 75% s wisgeushstar Apdlapep GupiiLLBerarg eeafld
o LTSSLLHL QL hsalar fgb crerareuns @ HESLD ?

A 2:3:4
“(B). . 6:7:8
(C) 6:8:9

D) .Gm,rj)ass-ﬁm_ argla|ilerene |

(E) oo Qsflwaiierere

CCSE2-2AE/2025 69 (0
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130. Carbon serves for the following purpose/purp Ving

organisms :

(1)
(2)

(3

(A)
(©)
(E)

ic mol
It’s a structural component of organi

ecule.

Helps to bind with other molecules.

ion 0O
Gives flexibility to the form and functio

as DNA and RNA.

(1) alone
(3) alone

Answer not known

f Biomolecules such

(B) (2) alone

D) (1), (2) and (3)

e Wiflemisafley smiuer Spsar abgs Lefl/uallsmend Caldpg ?

(1)
(2)

(3

(A)

(€)

B& sfo ppessmpsaien s Ly @mnrs euduBhang.

8g wHp assERLer aralldld GaaTiiLsmar GJQU@Q@‘QID@-

Bz 291 asmpsdr (DNA, RNA) a@éssmgu aigaib LOHMID

Cawdum 4 he Cpdpe sereinen efl&EEng).

(1) v Ew &M

(3) wi @b &M

(E) oL Qsfilueidama

CCSE2-2AE/2025
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31, Arrange the following in chronological order :

1)
(2)
(3)
@
(A)
I(B)
(C)
(D)
(E)

The Indian Nationg] Army Trial

Formation of Indign National Army

The Royal Indian Air Force

C. Rajagopalachari’s Formula
(4), @), (1), 3)

@), (1), (3), (4)

3), @), (@), (1)

1), @), 3), @)

Answer not known

sflwrer sroeafleasuie amwsd@s :

(1) @pdu Csflu @rrames Bsner elsmaan
2) @pdu Csdlu Grramed CempmieilssiuGS
(3) @rrueé @pHwu dwramiueL. CarHmEilssrLGEEe
@) & @rgCsrure eyssml HULD
@A) @, 2),1),0)
B) (2), 1), d), @
©€) (3),(2),®, Q)
D) (@), (2),3),*
(E) oL Osflucidame.
CCSEz;zAE/2025 o
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132. Consider the statements
corporation (NCDC) and choose the corr

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)
(E)

on the national co-Opemtwe deVelopm%t

ect answer

It is a statutory corporation
It is an autonomous organization

tution

Now it is a public financial insti
e control of ministry of

Operating under the administrativ
agriculture and farmer welfare

(2) and (3) only

(1) and (3) only

(1) and (4) only

(2) and (4) only

Answer not known

Csflu sl Gey Cuwur @ spsb (NCDC) updw SOnIseed &g
MenLenws CsiihOsH&sHe LD

(1)
@)
®)
4

(A)

(B)
(©
(D)
(E)

@8l @it LU SPsib

85 @i garam § fipaeanongd

By @ Caunt Qung A8 Ppeenors @osAps

@gj - Geverrair  wpmd  dfeusmilssT B @wEFESHE
Bireuns s GUuT g6 i QuiiGHng

(2) wpgid (3) wLEw

(1) wppd (3) wEw

(1) wpmid (4) e G

(2) wpgid (4) wr @b

e QzMucidame

CCSE2-2AF/2025 7 ;
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133, Assertion [A]: Migration is the movement of people across regions

Reason [R] :

(A)

and territories.

Migration can be external or international.

[A] is true but [R] is falge

(B) [A]is false and [R] is true

(C) Both [A] and [R] are true

(D) Both [A] and [R] are false

(E) Answer not known

ampp [A] - @Lu@uuitiay g Qrrpdumsdr  wHHID
rCsemtsEnéE QoL Cu wisdr @LIbAUWLITED YGD.

smand [R] : @Lu@uuwiey QauafitiypuorsGaun sideg staubssoraGeur
B mbsa.

(A) ampp [A] 8M gerrdr srarnn [R] geup

(B) spp [A] poup wppib smramd [R] &l

C) smpy [A] b wppb smyemd [R] b &f

D) empy [A] b wppd srgemd [R] b seup

(E) ofer Qsflwellidreney

CCSE2-2AE/2025 L o
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134, To arrange Valluvar’s statement -

(1) Modesty

(2)  Truth

(3) Love

4) Obligation-

(5)  Complaisance

\ @A) (@), 3), @), 6), (1)
(B) (6), (4), (3), (2), (1)

| © @, 6),@6
\ D) (3), (1), (4), 5), 2
(E)  Answer not known

sTenpranewWier Qassearn @ as asenat SpeaD®D HrduGsgs
1) prems
(2) amienw
(3) - ey
@) guyya
(5) semGartmy (b
A) (@), (3),©), (5), (1)
| B)  (5), @), (3), @), (1)
| © W, @, 6,

’: (E) &en AgsMwefdena
[
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a
ap, 1=
135Ib

(A)

©€)
(E)

136. The number 311 311 311 311 311 311 311 1is

()
(B)
(©
D)
(E)

311 311 311 311 311 311 311 arérp ereor evig,

(A)
(B)
©
(D)
(E)

B and b_15 then ¢ - o .
) 16 2 5 of
z 7
TR ® 25
— 25

iy =2

4 D) =
Answer not known

4 b 1 — g2

— WHMID ———é arafléd % E =

5 c 16 cia
. 7
= B
7 (B) oF
3 25
. ® =
dan Qzflwaildranen

divisible by 11 but not by 3
divisible by 3 but not by 11
divisible by both 3 and 11
Answer not known

3 e BHWeard auguLng, 11-preud BHGED aiguLTg)
11 <y BHGanD euguEb amed 3 e BHulend auEuLrg
3 =y BHudand auGuEb e 11-d BHAG6D euGLLTE
3 whmid 11 =ped Lﬁﬂuﬁlaﬂgﬂ Q@U@

e Qg fMweiidvena
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Plateau :
137. Choosge the right statement(s) about Malwa

(1)
(2)
(3)
(A)
(B)
(©

(D)
(B

opes toward
It has an average altitude of 600 m and slop S the

east,

i bal -
The plateau region is mostly drained by chambal anq itq

tributary rivers.

The Malwa plateau is located in Rajastan, Gujarat anq
-Madhya Pradesh.

(1) is correct

(1) and (8) are correct
(2) and (3) are correct
(1) and (2) are correct

Answer not known

Wwredeur SLf ubdlu sfwimer ampPear/spnsmers Csirey Qawis :

(1) sprefurs 600 S i 2 wdgier dlpss Coradl sflbgerarg,.
(2) Sy 18luGer Queburerar LGHseld &bl LOMID  AHET  Fena
BOISET LMUEleDg. |
(3)  wréeur . SLyd  grgevsmar, GRITS  WLOHMID  WwHHW SrCsssda
SDLDbG)6TarTg).
A) (1) vreo sflunarg
(B) (1) whmw (3) sfwrereey
© @ LD;_ijLb (3) sflwrareney
D) (1) wHoIbd (2) slurereney
(B) e Gsfuaiovama
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138. Match pist I with List IT an
codes given below the ligt -
ListI

d select the correct answer by using the

. - List IT
Articles Councils
(a) Art 280 1. Inter-State Council
(b) Art 263 2. Inter-State Water Dispute Tribunal
(c) Art 262 3. Goods and Services Tax Council
(d) Art279 A 4. Finance Commission

@ b @© @
a) 4 3 2 1
21 - S S 3
©) 3 4. 1...2
D) 1 4 3 2
(E) Answer not known

SCQsTR&sLILLGater LLgwe [ wpmn I -@d 2emerapap sfurs

QuUTHSSIS
Ut iguied T L gwen 11
ETSHISH6T G(E&ET .
(a) slL@fey 280 1. wrfetsepsda ueore G
(b) sLu9fley 263 2. wrfloksEssde Gorar BABT S&TTHI
' Sriumub
(¢) s Lu9fley 262 3. QumpLser LHMID Csavau aufld &W

d) scLn@fay 279A 4. fdssw

@ ® @© @
(A) 4 3 2
(B) 4 1 2
C) 3 4 1
D) 1 4. " .8
(E) o&fler Gsflwedcenc

MO DO QO

CCSE2-2AE/2025 Ll O
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-NAM) portal is ¢
139. The objectives of National Agricultural Market (€ 0

- @

(i1)
(1)
(A)
(B)
©
(D)
(E)

Create a unified national virtual market for agriculfiural
commodities.

Aid farrﬁers in getting better prices.

Provide marketing options to the farmers.

(1) and (i) only

(ii) and (iii) only

(1) and (iii) only

(i), (ii) and (iii)

Answer not known

Coélu aflausmus spews (e-NAM) @averrs (psiier Grmésib.

@)

(11)
(1i1)
(A)
(B)

(©)
(D)

(E)

cfleusmut QUL s(enés, @G eoudomanns Gsélwu  Quuhs:

EHOTDW 2 (16U & &6.S)

fops ellewamurs QupeigheE efleusmuilsemés 2 5650
G)S]QJ&WUS]&E@&S@ 55@50u®§5® QUPISE@ET GULDRIESE

(@) wpyud (1) we G

(i1) wpmib (iii) wr G

@) wpmd (i) v Go

@), (1) wpmo (i)

en QsAwefdena

CCSE2-2AE/2025 78 q)


Highlight


1 40. Which of the following is incorrectly paired?

@)
(i1)
(i)
(iv)
(&)
B)
©
D)
(E)

Gopala Nayak
Dhoondaji Wagh
Marudhupandyas
Pulithevan

(1) and (i1) only

(1) and (iii) only
(i11) and (iv) only
(iv) only

Answer not known

Dindugal
Madurai
Ettayapuram

Nerkattanseval

Gereu(HeuaTeudMIET 68 FeUDNs @lenarrasiiLL_[HeTerg) ?

®
(i1)
(iii)
(iv)
(A)

(B)
©
D)
(E)

Camume Brws
FnewrLmeyl eumd
LD(T &) LI 68T g UL TS 6T
Hel5Caeuest

(1) whmib (11) LW

(1) wpmib (111) w G

(iii) wpmpb (V) LD

(iv) L @D

e Qgﬁ]msﬁ\@wm

CCSE2-2AE/2025
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; d drawn into g .
141. The diameter of a sphere is 8 cm. It 18 melted an A Wiy,

of diameter 3 mm. The length of the wireis
(B) 37.9m

(D) 39.9m

A) 369m
(C) 389m

(E) Answer not known

8 Gs.8 aﬁli'_L@Ghm Gamarorang 2 (HESIULEG 3 1.5 A Lperer SO g

2 (HeUMESLILIL L med, i&sbifufer Berib

(B) 37.915
(D) 39.9 8

(A) 36.98
(C) 38.98
(E) &ler Osfuefdvama

142. A sum of money becomes Rs. 13,380 after 3 years and Rs. 20,070
after 6 years on compound interest. Find the sum
(A) Rs. 4,014 (B) Rs. 8,460
(C) Rs.9,210 (D) Rs. 8,920

(E) Answer not known

@0 GOHIUYLL Gsraswreng sl () el WPop€d ppemn e[ sEnEE.!

o6 m. 13,380 saib, < L@ HE@REGH AnG . 20,070 s
aueni&d) samLfng eafler Sipss Cgrend ereieuaTay?

@ 4,014 B) @, 8,460
- (C) m. 9210 D) . 8,920
(E) ol QzMweicdena |
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143, If — stands for ‘addition’
« stands for ‘subtraction’

T stands for ‘division’
or ‘division’,

! stands for ‘multiplication’,

7' stands for ‘equal to’ then which of the following alternatives is
correct?

@A) T«43T6l17 4

B) 3l6T2-53«675
C) 5-57«38T274

D) 2565276
(E) Answer not known

—) GTETLIG) Sl L aneubd,
| (—— ararugl sfisg@au|b,
T eI 6UEGSSMVU|LD,
! aremugy Qupss@meuyb,
7 arénug swowb aarL@sLD EOEET Spssdn_aipfld agl sflurasnGd?
A T<43T6l17 4
B) 316T253«675
€ 55737274
D) 2l56-276
(E) eflen Qasflwaildea

CCSE2-2AE/2025 Bl )
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144. Match the following :
(@) Bharathiar

() Kavimani Desiga Vinayagam Pillai
(c) Bharathidasan
(d) Ramalingam Pillai

@ ® @ @

A 3 2 1 4

(B) 4 3 1 2

@8 . -l w1 .8

D) 2 3 4 1.

(E) Answer not known

Qummsgis :

(@) umpdwmi L.

(b) saflwef Csls eApmusd Geravar 2.
(©) umrdsnser 3.

(d) @rmoaliusd Gereer 4,

@ b @ @

A 3 2 1 4
B 4 3 1 2
© 3 4 1 2
(D) 2 3 4 1

(E) e QgsMweldrena

CCSE2-2AE/2025 82

1. Pandian Parisy
9. Tamilan Ithayam
3. Kannan Pattu

4, Asia Jothi

LITeRTig w6l L&
sillpar @swid
SemenTe LImL(h)
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145 «No man shall be taken or imprisoned, disseized or outlawed, or

exiled, or in any way destroyed save... by the law of the land”.
This famous clause is in..,

A) Bill of Rights

(B) Universal Declaration of Human Rights

(C) Magna Carta

(D) The Protection of Human Rights Act 1993

(E) Answer not known

“,BrrL'_Lq_sifr SgLiuaLdE sl sHarugCu el ahs @O weflg@ib @&
QenwruLGeur,  AepriuBdsiu_Geur, pn@asl_gguu@m@g;ﬂ. <jeufflen

Qenggsamans @siuppGaur’ Goum ahHs auamalGar HflssluL (PYUTE.
Qb5 LUSRAUDHD QUTESLD SieIdHEETET eUaTLD. .

(A) o Mewser gL LD

(B) o asameiw wallg o fenwoll 19gsLambd

(C) wsnergad

(D) wafls e fewaer UTHSTULE FLLLD 1993

(E) ofen Qgflwafidema

CCSE2-2AE/2025 s ¢
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. Tamil Nadu
146. The major renewable energy source 11 8

(A)  Windmill

(B) Coal

(C) Oil and Gas
Cb) Nuclear power

(E) Answer not known

SOPHT g6 o erer &AL LGIINEESSES arflesd Qbigrrmb
(A) STHHTEMNQ

(B) pessf

(C) eam@erniy wHmid erfleumy

D) <egmsss

(E) &l Gzsflweidena
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147, Find out the correct statement :

(1)
@)
6)
4)
@
®)
(©)
D)
(E)

Thirukkural wag translated in Hindi — Appathetsithar
Thirukkural was translated in German — Arial

Thirukkural starts with alphabet ‘s (Aa) and end with ‘e’ (Na)
Friendship has 13 chapters

(1) only

(1), (3) only

(1), (4) only

(2), (4) only

Answer not known

sflwurer saphlenets serL_ms.

D
2)
3)
(4)
(A)
(B)
(©)
(D)
(E)

dmsepoa @iHle AuriAuuitsseul - SILTSLASH
Hms@neaa Agioaid QumAAuursseul - qrﬂ.u_lsia.
Ams@per ‘s158e Asrnd ‘arsisdad wedpsg
Blwe 13 siflsmhismard Garan(berens)

(1) b @b

(1), (3) LGB

(1), (4) oG

(2), (4) v @B

MerL Qsflueioama
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148,

IfA—1,B>2,C->3.- Z — 26

AB 4+ BC + CA will not be equal 0 ————

&) ~FX
B) S-G
©) ®) (E)

D) L

(E) Answer not known

A>1,B52,C-8..Z—26 aas QameRTL e

AB 4+ BC+C4 aoug 66 0018 QmESTS.
@A) JFX

B) S-G

© @ E

D) L

(E) e Gsfluddama
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149. Which of the following statements are true about the Nordics?

@) Indo-Aryans are the ]agt immigirants into India.

(i) This group was the next to come to India after the Negritos.
(iii) This group have come into India between 2000 and 1500 BC.
(A) - (@) only

(B) (i) and (iii) only

(©) (@ and (ii) only

(D) (i) and (i) only

(E) Answer not known

By & GHEs Wareumbd enppiseid o amanownar smbm 652

(1)  @bCsr yAuiser QpHuredes soLdwurs @yCubueisar.

(1) CpsfiCGLrsenss YUpe @pdurass aps G Bbss GW-

(i) @s3s GW 2OOQ whHmbd 1500 BC 5@ QeoLwkd Qduredng eupgert.
@ ) weow |

(B) (1) wppud (111) L@

©) @) woppd (1) v G -

(D) (i) wpgid (111) LLED

(E) e&len Qzflweieemae
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150.

Which of the following

are true about Tamil Nadu Panchayata

Act, 19947

@)

(i1)
(ii)
(&)
(B)
©
D)
(E)

i Sabha.
Chapter II of this Act deals with Gram

] jnance.
Chapter VII deals with Taxation and F1

Chapter XII deals with Penalties.

(i) only

(i) and (i) only
() and (ii) only
(ii) and (iii) only

Answer not known

SpssamL SOPETE LEHETUSEHSET FLLD, 1994 @gmfuraraidpidr #fiune,

GTenau ?

(1) @ssLsfer @rammd FHumud Symo gepLl QFTLTUTETE 95,
() @sar gymd egdumnun afl iy wppd HE Gsmiunag e
(i) @ser uetafyarmTaug SiSHLTLID SIUTTSREET QBTLTLITGTE <450,
A) (@) or@Eo

B) () wppid (i) wCED

(©)
(D)

(E)

(1) wHmib (11) v Hid
(1) whgd (1i1) wi b

aflen Qg Mweidrane
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151. Choose the right matches -

(1) NHS — National Health Service

(2) CBHI ~ Central Bureau of Health Insurance
3) PHC ‘= Primary Health Center

() NRHM

— National Real Health Mission
(A) (1) and (3) are correct

(B) (1) and (2) are correct
(C) (2) and (3) are correct
D) (3) and (4) are correct

(E) Answer not known

sflwurer Qurmssrismens Csire Qeweyb :

(1) NHS —  CGsflu ssrsm Gema |
(2) CBHI - sETETs erulL Gésrer wsSuL Lamflustd
() PHC — @b semETy Heutb

(4) NRHM - Gl ssnsmr Gsee @b

A) (1) wombd (3) sflunaree
B (1) wppi> () suraree
C)  (2) wpmyid (3) eNlwnereney
D) (3) wpgd (4) sflunaree:
(E) e Qsfwaiidvana
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152. Which of the following statemen (s

) is/are true about Kh']
i

building?

(1)

(i1)

(iii)

(A)

Muslim style

..+ the enthronement of Ay, ..
KS. Lal observes thot i d in architecture in the'Hiddln

Khilji, a new era was ushere ng

Marshall writes "I a
gems of Islamic architecture.

“Percy Brown remarks” the entrance %&}tew_i}’ :ﬁ:he HiOSque

e L2 n 1 ev .
Alauddin Khilji occupies 2 key pos1tlo Olution
Islamic architecture 11 India.

«Hauz-i-khas 18 0ne of the most treasurgd

(1) only \.

(B) (i) and (ii) only
(D) (ii) and (iii) only

(E)

Answer not known

dogseflar sigLb upHu Werambd gappisafled eTEI/eTEneU 2 @renin ?

®

(11)

(ii1)

(A)
(B)
(©)
(D)
(E)

Soreyflen Segd iflwenent gdlwiér @;Bg,]-quocﬁhb Limenfl &y ¢
soold n uHu saTisD QSTLBELULLSTES Ca.erav. g
sam&lmmi. :

aneyev-@-srev @evemdu sl s seoular H&ayb Qurédasiong
reSamseile ey ereny wriayd GHLGESDTT.

“corafar Hoglar weHuler mepe earle @pHurad
@eveomiu sligl & seeuder uflarmo - euetirEfludled p&dlw @l sams

Qg dgyerangy erany Quird Ayeyen sagdmmi”.
(1) @b

(1) wHmid (A1) LW

(1) whmb (111) WL Hibd
(11) wpmo (1ii) wrEw
dlen @sMwelldane
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154.

(A) Okkur Masathiay
(C) ~ Velliveethiar

(B) Kaval Pendu

(D) Avvaiyar
(E) Answer not known

shlsale 5@@‘* FPsEAD  Garanpieuen 1onGgr  GuntasarssTGar-  Gren
SrEHDS QPEEusgian QsrBsg Lmgw QuatmLited Leeuf W

(A) @&mmi wrETSHLN (B) smeud Quear(®
(C) Qeuereflaifwmir

(E) &ler Qsflwelcrana

(D) gereveuwimit

3 men or 4 women or 12 boys can complete a work in one day. In

how many days a man, a woman and 5 boys together can complete
that work?

(A) 1lday (B) 2 days
(C) 3days (D) 4 days
(E) Answer not known

3 .ﬂ,&r&d‘r Sweg 4 Quarsar gdeg 12 Aneisdr q@m Coumaenw g
Brefed (pyliumiser erafler 1 oyam, 1 Quar wHmb 5 Hneutsd QeaThHE
G assamer B gafledr Wi iLTiEeT?

(A) 1 prer (B) 2 prser
(C) 3 pm ser (D) 4 prsdr
(B) el Qafweidena

CCSE2-2AE/2025 91 )
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155. If DANGER is coded 2

‘MACHINE in the same code 1S

(A)

(B)

(©)

(D)

(E)

DANGER erenug 10-7-20-13-11-24 erar GO g (igme, o

13-7-20-9-11-25-15

18-7-20-10-11-25-15
19-7-9-15-14-11-20
19-7-9-14-15-20-11

Answer not known

&S & MACHINE erarguip Qeréveller ¢SS

(A)

(B)

(©)

(D)

(E)

13-7-20-9-11-25-15
13-7-20-10-11-25-15
19-7-9-15-14-11-20
19.7.9-14-15-20-11

dflen Qgflwelerenaw

CCSE2-2AE/2025 92
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156 Choose the right matcheg among type :

1)
@)
(3)
4)
(A)
(B)
©)

D)
(E)

sflunsy QurGbSyaerenss CarpHs :

(1)
@)
)
(4)
(&)
(B)
(©)
(D)
(E)

Permanent Settlement
Partition of Benga] |
Ryotwari System
Network of Railways
(1) and (3) are correct

(1) and (2) are correct
(2) and (3) are correct,
(3) and (4) are correct

Answer not known

Birpsr Heefs S
auusll 9fNelenar
Gruggieunil gpep
@Qouyriurms @enemTii
(1) wpgid (3) &

(1) wppid (2) &

2) wppid> (3) &

(3) woHmd (4) &

e Ozfucidvema

CCSE2-2AE/2025 il

Lord Curzon
Cornwallis
Munro

Dalhousie

-  &irgar 97y

- snyereumedlen
- wear@Gomr

0
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157. Read the following passage and answer the 1tems that folloy,
Your answer to this item should be based on the passage only.

A nation or society without the participatio_n qf women cannot
achieve development. If we eliminate gender discrimination women
will deliver all the potentials. Knowledge to develop the family the
Secretary General Kofi Annap

nation and the world. As former UN ner -
has stated — Gender equality is more than a goal In itself. It is pre
‘ condition for meeting the challenges of reducing poverty, promoting

sustainable development and building good governance.

(A) Steps to be taken to ensure Women Educatiqn
(B) Importance has to be given to reduce gender discrimination
| (C) Strong measures have to be taken to stop Sexual Harassment

| of Women
.' (D) Need for the employment Generation Programmes for Women

(E) Answer not known

usHlenar  urdlg, Gereumeuaraup DS e wefldsaywb,

E|paaeam_
aoww Geuesr(Ib.

o BT e QUUGHOW SIS WTES QasramGL <

Querrseflar umsaliy @demwd @ pTeLT g @O0 FepaGuor

wearGanhpld S@LW  Pigwng. UTlar CaugurligeeT BID SMETHSTS)

&@LU, 1O LHpD @bs e@sD aerids SeLaFhET Speno HDIH

ofielamar Quanser QaiafiL@ggeur. sl BrEseT genuudler  qpeaner

Qurs Qswarert Gamsld SidmenTen eurser Umelar sodgeud erdTug

| sCarever ALayb Guerarg erers @GHLAL Gererr. G@ID eupLLELIE

| Gonss, Puss Syner aentsdl wHpID FPpE B EHDLE sLLewl9hE @8

e Hlupsemen erar s dlujerarmi.

i (A) Quer sdefleow g Qslieugpsner pLaigsmsser GpLsTeraTILL

|  Gauam®id

(B) unddlar Capuriyemers @Geplugpsnar psuggeud Csmhsiu

| Ceuarr(HILd

(C) Quarsaien LTlwd e NSsDEMETS SHES SH@LWITET BL GG SmaseT
r(h&aLUL Couadr(pib

(D) Quens@rssrer Caumaemiliy e (Gauragh L nserssrar GCsame

(E) &l QgMwallcrensy
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Wthh of the fOllOWln
mlgratlon‘?

1
(2)
(3)
(4)
A)
(B)
(©)
D)
(E)

Rural to rural migration
Rural to urban migration
Urban to urban migration
Urban to rural migration
(1) and (4)

(1) and (2)

(2) and (3)

(3) and (4)

Answer not known

—

—

B 18 incorrectly paired in rural-urban

Reverse push back
Push - Pull activity
Urban turnover

Rural turnover

GeraumauaraudIeT Aymogsed
QUIBESEDSE ST (5. sodobe pergdde @‘—Lb Quwriey GN&s SeupTer

(1) Armogddopa Armosde,
@b Quuiirey

(2) Armsddnig pErsdHE
@Lb Quuwiiey

3 Muﬁfﬂaﬂ@ﬁ@maqﬁé‘b@
@b Quuiey

- (4)  persddmpa ATTosHdE

@LLbQuUJr'req

A) (1) wppw (4)

B) (1) wpmw (2)

©€) (2) wpgw (3)

D) (3) whpmd (4)

(E) ofen Qzfuweileranad

CCSE2-2AE/2025 95

gaadlp a8t BaTa

ApH&Es® GauaiGupse
Qewdur®

B WH&PHE

Aymotiyp wHEPHE

¢
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159. Thirukkural is a com
according to M. Ariel —

Thirukkural as the Tamil’s sa

(A)

(B)
©
D)
(E)

Mahatma Gandhi

Arignar Anna
M. Varatharajan
G.U. Pope

Answer not known

pilation of the sublime, pure human thoughn5

cred book

16!

Based on this saying who has referred the

‘o enargonar, FTieDWTEN vefllgs Apgenaruder ng@ﬁcw Smé@per -

aargib ab. giludar sGE®s inQuipd Hmsepeer st Cagh’ aas

GO L e

A

B

©
(D)
(E)

ETHLOT STHE LG SHeT
21 (Dl(@hIT DHeRTERTT

- 'mgglyrfm

- &ly. Guma

elen GQgfMwelicrens
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an spends Rs. 500 ; :
160 Amen sy 500 in buying 12 tables and chairs. The cost of one

161.

is Rs. 50
table : and that of one chair is Rs. 40. What is the ratio of
the numbers of the chairg gang tables purchased?

@A 5:1
(C) 10:5

(B) 2:10

. D) 9:3
(E) Answer not known

G welsi @. 500 &8, 12 Cuasser whmid BrHsTeser eunbi@GHDTT. @

Guensuien el . 50, gm prosrdar efane m. 40 s@w eurh@spr

Grsof.'d) Sl urbidlu prpsme) whmib CuenswWiar elemawlar 1&gssmss
& T S. - '

4 o5:1 (B) 2:10
(C) 10:_5 D) 9:3
(E) d&len Gsflweiidena

If LCM of ‘@’ and “a+2” is 1300. Find the LLCM of “a” and a+1.

(A) 1350 (B) 2600
(C) 2550 (D) 2700

(E) Answer not known

a wvpgod a+2 @Qapder B.Qumwrme 1300 aealld a wHpd a+1l

BQeupden B5.QUM.DLKIE SM6Ts.

(A) 1350 (B) 2600
(C) 2550 (D) 2700
(E) &fer Qsflwaiicdhencd
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162. Which of the following statements are correct in the context

carbon monoxide emissions?

(1) Its mainly due to incomplete combustion of fuel.

(2) They are more evident in petrol engine.
(3) Long term exposure can cause nausea.
(A) (1) and (2) only

‘(B) (2) and-(3) only |

© (1), (@ and (@)

@) (1) and (3)

(E) Answer not known

smiruer Guramméeen(d 2 lpeysamery upd SpssTEID THEE smbppIsET 5o
(1) sfeur aféars eNQUImBETTED QUITESmIG WS-
(2) QuiLGymed srrﬂGurf(‘[r,sir QUTEQTEISEATITE Q(HEUS.
(3 e Gpy e fipaianmad GLLL® FHUOSSILD.
A) (1) wpgid (2) LLEW

B) () wpgw (3) wLED

©€) (1), (2) wpgid (3)

D) () wpgd (3)
(E) e Gzflwelcdene
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D)
(E)

President - '
Can resign from his office at any ti
ime

President cannot }
ot hold office beyond his term of five years

President can be
removed from his office by an impeachment

process

No President of India has so far been impeached

Answer not known

@pHus GRUIFES s@aar Qgmiurer Gereumd spmseild gaprar sbd@D

SeLw TEmLD STEHTS.

(A).

(B)

©)

(D)

(K)

GGUIEd S g@sﬁ]uﬂw Qmago CGurg  qUEUTLS
Cauar(h@weaTprgib el Lgedl elesad ‘
phsTaTOseT sLbE GADGL, G4LrEd geooa U6l By &
Queorg

&HDFET [ (Impeachment) aumferss &qwrss saacum LS
B&aDd @ &uIWeLD

@g ey aps @0 GRUTES SOOI ugell  H&sLD

QealiwiuL_eldend

e Qgflweidma

99 0
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164. The Tamil Nadu Government
Urimai Thogai Scheme for the
following is/are the rationale

(¥)

(i1)
(1)
(iv)

&)

(B)

(D)
(E)

ented Kalaingar Map,.

implem .
Women. Which of t
. g

Welfare of
for the scheme

Gender disparity in annual income according to the Globy

Gender Gap Report 2023

Changing the poor social status of women

Upliftment of rural women

Recognize the countless hours of silent work put in by womey,

(1) and (iii) only
(ii) and (iv) only
(1) and (ii) only
(i) and (iv) only
Answer not known

Quemsafien po@bsTs sUPs SiTs SOV waefit o Mews Ggnas;
A sms Qeuou@sdug. Geraumaaraupdlo  TbS SMYERTD  Qbs)
S gdparer Hlurwwrer efleTésLw.

®

(11)
(111)
(1v)
A)
(B)
©)
@)
(E)

o wsemeil  Undler @er Qe ifises 2023 Qdr Uy e
aumwrarsde urder Capur® |

Quarsafie epenWINTET FUps Hlereerw WLIHD

Aymotiymls Quenasefier Gubun( |

Quarsaiear erarampp LGBy Diendwirar 2 aniplienLs Sik&sfssd
() oppud (i) e @b

(i1) wpmid (iv) wi @b

(1) whpmb (i1) wr b

(i) wpgid (iv) iG>

aflenr AzMweiidana
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; Match the following :

169
(8) Symbol of wooing 1 Wi
b , ogai
Symbol of love
(b) 2. Leaf of the Asoka tree
(c) Crowa good harbinger 3. Natrinai
(d) Pandil game mentionedin 4. White Lilly

@ (® (o (Id)

A) 3 4 1 9
B) 2 4 1 8
©) 4 90 1 3
M 1 4 3 2

(E) Answer not known

AUIESSIS :

(a) <2578y _Gﬁ-ﬁ@ﬁ@‘ﬁf Flemaid &nEOsTMS

(b) jemile é}mm_‘-b 2 Gens wrsHer G
(c) smabd @ BO perardleliiLimer B dlenamr

(d) vemge ellearur Qaudrerar idedl et

e e

@At HeTerg)

@ ® @ @
(A 3 '
(B) 2

4

1

S

(€)
D)
(E) ol Qgflwellevens

W = =
D W W
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166. Match the following :

(a)

(b)

()
(d)

A) 2 3 1
“(B) .3 4 8
O 1 3 4 2
D) 2 1 4

Thalai sanga pulavanar
thammul

Akan podhiyil Thirumunivan 2.

Tamil sangam

Koodalinaintha ondeen Tamil 3.
Madurai Thokaiyakkinan 4.

@ ® @© @

LW NN =

(E) Answer not known

QL“T@ﬁ@a . Huad s

(@
(b)

(©
(d)

A) 2 < |
(B) 3 4,9
©€) 1 3 4
Dy a4

SOF SRS LIQeUaTTIT SLOAPET

iser QurHufer Hmapafouer 2.

S0 P& smsLD

gL dlemibs gemeh SO 3.

wgios Oereswunsdermer

@ ® @© @

L N =N

(E) &e Qsfweldane
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Kambar
(_)hel_(iiar

Thirugana Sambanday
Manikkavasakar

SLOUIT

Gesdlpmi

S(mEsreanFibubsT

wrenfléseurasT
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e are 9 col |

" r(l;};z;ge, Violet, ];?irm};%xets Red, Black, White, Green, Yellow, Blue,
placed between Red alrlldmt Necessarily in same order. Only 5 boxes
White. Only three boxeg arlte' Yellow is placed immediate above

W black but not at bottom. More than
. 11;):?};2?1 ;111:9 I;La;ed betw(ae-n Yellow and Blue one box is placed
Pe laced 1mmed; o ange. Pink hox s placed above Violet. Which box
is placed tmmediate above and immediate below Black?
A) Pink and Green

(B) Pink and Violet
(C) Green and Blue
(D) Pink and Orange
(E) Answer not known

garugl euamtent Ul gsar Heutiy, s@mUY, Qeudtener, LiFaE, LDEHEET, Bewd,

‘%U@E’ el @m@é\muu @([Bt’ﬁélsh,mm. garme 26z auflenslie @)(H&S
Caama Slasluflome. @by Quigse Sy wbHmb  Geudrener
QuLsEES @@Lwld @eassiiul Gerarar. DERFE QU gy Geudrear
QULg 5@ 2-La Cuwla @eussUUL Retangy. epern QUL igser wHIGW EhEET
pHpd  LE®EF Ul yasEpse @i Cu o drergl. Seuliy HmIb UEDE
QuigeEsd @oLCu 2der Quigsaiar carafsmsl@Catu &My
HMID EEET QL-'L'-“}S@@B@ @eLuwie 2 drengl. BriGuL Ly, SHUY QUL Ig&&
G eeusslUL(HeTeng, <yerTed 215 Suie aassliuLelldame. BTN E
Quiys@ps@ Cue wEhEeT  wHmIL  Bers QUL HERESE @enLufled
@assLLLBeTeTg. @@ Quily SeoululgsEb RIEHE ULKRESD
@ e measslulderg. @eargrflouty Quily 2asm Quiigs@ G
aneusSLILL(HeTergl. erhg Quiiiy s@miy Quligéa Cugib, SHb @) (HEESLD ?

A) @ergpfleutty LHMIL Lsas
B) @argAouons wppib s
(C) usews wpgID Beord

D) @ergpleutiy LHMID BTEHE
(E) eflen Qsfwelcrend
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168.

169.

Which of the following statement(s) about the Din-i-llahi iy,

correct? :

(A) The number of the followers of the Dm-l-ﬂah_l SR

B) It is a state religion

(B) is a state religi h would be acceptable tg

To establish a national religion whic

the Muslims and the Hindus ‘

(D) To expand its territories and gain control over the independep,
states

(E) Answer not known

©

SpasrarTuaTeuHDIET 55&[—@wrr§_ufﬂ upHlu 2 eTenLowImes FapH/FPDDISET GTaney )

(A) Sar- @mrrgﬁ')]mu Qerup Pl weuiaer SFsD

B) @8 ¢® <irs wHL

(C)  apeveSibaer wHID BBpSIEEET THYSECSTETAT FalgL Gsélw wsw0Ts fyg,
cuesT(hLb

3
D) WrCssusma dfaupsgusIGD GBS
s HuurieL Ll QupegHELD '

(E) e Qsflwallebeney

B sefler By

plate exposed that the Chola Queen Vanamadevi

Committed Sati.

(A) Anbil Plate (B) Tiruvalangadu Plate
(C) Bahur Plate (D) Velvikudi Plate
(E) Answer not known

Cemp 78l wrrswrmrr@g;afﬂ &8 GmmGanann araruemg Geuefliu@sgd
L L uitb

(A) .,-_r,qdmﬁld) LI Lub (B) dmeunreonsn® L Lwibd
(C)  umgafr LCLwib (D) Geuereégg L Lwib

(E) ol Qsfucidere

CCSE2-2AE/2025 104 ¢


Highlight

Highlight

Highlight


:nd out which of :
70. Find 0 ol fing f011owmg pairs is not correctly matched?

A) S.R. Bommai Cage (1994) — President’s Rule

(B) Unni Krishnan Cgge (1993)

— Right to Education
(C) Prakash Singh Cage (2006) "~ Judicial Reforms
(D) M. Nagaraj Case (2006) — Reservation

(E) Answer not known

Spssramuebmier AurmssoHpE og 2

(A) S.R. Qumbew s (1994) - GlaLUT&S SO6IT Dy &

I

(B) e enaflfl(meiyamen auipde (1993) seelyfento

(C) Yysmepdln eupsE (2006)

BHsgieons FTHHESLD

M) M. prsprg euée, (2006) QL 5&s0

(E) &enr Qsflweiidvana
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171. Tax Incentives for startup companies for a period of three Yearg

have been introducéd in the
(A) Finance Act, 2016
(B) September 25, 2014.

| (C) November 4, 2011

(D) Finance Act, 2014

(E) Answer not known

Lsres Qgm_msuu@D Ppauaisess ufléegams pap oG bsEmkg

RGeS eTeny QgmBsuULCL gl HE 1L 1b?
(A) Hd& sid, 2016

(B) QauLbui 25, 2014

(C) paubuf 4, 2011

D) HHs s..-___m, 2014

(E) & Qsflwueioana
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tify the i
172- Jdentily parsy Wh_mh Started Anti-Non Cooperation League in

Madras Presidency.

(A) Swatantra Party
(B) Justice Party

(©) Communist Party

(D) Indian National Congress

(E) Answer not known

FTTE TSTETSED Q&g @PLITaLo Quiss &r@r‘ruq shssans Qomrudu

sl Si@LWwmeTid N6,
(A)  sppdlom 54

(B) Rossrd -

©) mwﬂaﬁ; sCA-

(D)' @;r,gu Casflwu sriidlyen

(E) &err Gzflweiidame
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173. A borrows Rs. 16,000 at 12% p.a. simple interest and B borroy,
Rs. 12,000 at 18% p.a. simple interest. In how many years will thej,

amounts debt be equal?
" |
(A) | 12§ years
: 2
(B) 145 years
2 .
(C) 16§ years

(D) 18—3— yearé

(E) Answer not known

seafl eu_iquied, A ereuieult . 16,000 Qgrevaerws 12% H&h euué@ sLe
ambigdpri. sefl auliguio, B eaeu en. 12,000 Ggrevsew 18% yan(
Al g éE s uriiEspr. assoar spar@asafd Qauirsaflen s Qsras
FDIOTES @) HEELD?
e |
(A) 12§ <, 68T (D SET
N D e T
B) 14~§ < @mHEET

©) 16% QITHEET

D) 18% L@ HEar

(E) e Qsflweicene
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7 Match the following g1,4 choose the
(a) Chloroform

(b) Phosgene

(c) Tear gas

(d) Mustard gas

(a)
A) 3
B 1
© 3
(D) 4

(b)

N N

3

(c)

2
3
1
L

1
2
3.
4

CCIS N02

0102H4—S—C2H4C1 ‘
CHCl,4

COCl,

@

1
2
2
2

(E) Answer not known

correct option :

&Gy G&;n@a;a;uug@mmeu‘mwm arrﬂu_nrra;u Quimmsa @‘;;_ﬂuﬁ@a;err epaod Ffluimer

e Wewens Csiray Qauis -

(a)  @&CemrCyrumiid

()

i = " R )

(b) wmevglesr
(c) samatiti Lews
@ 566 amy
@ - O
&) 3 4
B 1 4
© 3 4
D) 4 3

1
2
3.
4

(E)  &fleni Qg,ﬁlmeﬁlsbmé |

CCSE2-2AE/2025

CCl; NO,

CIlC2H,—S-C3H.Cl
CHCl;
COCl:
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175.- Incorporation of Fundamental Duties to the Constitution of Indjg

was done by

(A) 42 Constitutional' Amendment Act 1976
(B) 43w Constitutional Amendment Act 1977
(€) 44"-‘* Const‘itutional Amendment Act 1978
(D) 45% Constitutional Amendment Act 1980

(E) Answer not known

@bs  sLLsHEEssHeT AL  DRUUOLS  SLOLESAT Did

ausa)mplﬁldj CarsaliulLgl.

4) 42-ag ,;swélu.nea.mqug Hmpsw 1976
(B) 43-aig srfueaniys Hmssw 1977
C) 44-aug auﬂw@mmﬁug Hmsso 1978
D) 45-ag é-[l]:ﬂuJerwL'lL.]ﬁ dmsso 1980

(E) e Qzfwelicrena
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176
1)
(i1)

(3id)
(iv)
(A)
(B
©
(D)
(E)

Qetbui, 20, 2023 m

Which is/are the key feq
passed by the Lok Sabhg "

ture/s of the Women’s Reservation Bill
n 20t Sept. 20232
The Bill reserveg 33% o

f .
State Legislative Aggg all seats for women in Lok Sabha and

mblies,

It will not apply to the g

cat i bh
and State Legislg Cien ats reserved for SC/ST in Lok Sabha

Reservation to be provided for 25 years.
To be effective after delimitation exercise.
(i) and (ii) only

(i) and (iv) only

(i) and (iii) only

(1) and (iii) only

Answer not known

D wésmeaie HanGaupprul L wEERT

AL pg&&0 wlsTgrelen WP&dw wbetisdr aama ?

@) @b wGsnzr wssa@a wHmd  wrfle  FlLbaTDhIsEd 2 6T
Swasg GLuseligid Quanserse 33% o5 &EANS.

(i) Geoms sum Ln,r.iJgleb wrfle &L inenniiseaic SC/ST 58 RESSILIL
PLusErs® Qg Cunmpss.

(i) 25 HarHsEhsE QL 285680 mgprmésuu@m.

(iv) GsrEd wpeueruenu LHAEEH GDE BOLAP@ODESE GU(HLD.

A) (1) wHpmbd (1) L EH |

(B) (1) wpgib (iv) wEb

(C) (1) whHmbd (1il) wI Hb

D) ) wpp (i) wr G

(E) &l Qsflueldemna
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177. Which of the following sta

tements are true about Micro, Smal] ang

Medium Enterprises (MSMESs) in Tamil Nadu?

)

(1)
(1i1)
(A)
(B)

©
)

(E)

Tamil Nadu ranks third in the country in Udyap,

Registrations.

30% of the state’s entrepreneurs are women.

Coimbatore has the most number of MSMEs in the state.

(i) only

(ii) and (iii) only
(1) and (ii) only
(i) and (iii) only

Answer not known

ppprige edar @p. An wppd  BOS Gpmped  Hpeuanrisa
(MSME &) upfl Qeraumid smppiseaier g sflurarama ?

(1)

(@)

(1i1)

(A)
B
©)
D)
(E)

9_,5u_|:_b ufaysafler sODBETE @pHuneilad epeTnreug) @586 o eang.
wrfesdar 30% AgrfldgpearGaii Quekraer.

G&wumqggnlﬂm granr wrflesHCatu <ifs Gn. fp LHD BESSTS
Qamled Flpeuarbiser 2 ereTer.

(1) v

(if) wpgd (iii) wr GG

(1) wppd (11) wr HGW

(1) wpmd (iil) w GG

lenL Qs flwelerene
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/78, Arranging the Chronological order/event type. Arrange the major
pallava Kings.

1. Simhavishnu

s 555 to 590 CE
9. Mahendravarman]  _ 590 to 630 CE -
3. Narasimhavarmanl _  gg94, 668 CE

4. Rajasimha ~ 695 t0 728 CE

(A 1,2,3,4
®) 3,1,2,4 -
©) 4,231
O 2,4,1,3

(E) Answer not known

sToaflengFliLig Ldeeu werarisenar auflemsiu@dsg :

1. Abweiepam — 555 éfmpa 590 CE
2. wGspflreuiver [ — 590 iz 630 CE
3. prélbweuioer I — 630 imps 668 CE
4, grgdibwom ~ 695 g 728 CE
A) 1,2,3,4
B) 3,1,2,4
@ 4,2.81
D) 2,4,1,3

(E) ofer Qsflueidane

113
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179. Ravi ranks 9t in a class of 45 students. Ther

Raj Rankwise, How many student

e are 18 students be]oy,

s are there between Ravi and Raj

rankwise?
A 27
(B) 17
(C) 18
D) 19
(E) Answer not known

45 wreRteuiseT 2 _6Tar m@uéﬂ‘e‘a refl 9 cug &b GUDHmETETTIT. QTrREe &Gy

18 wremauiser syd QubpeTaTant. Fefl WHMD TIRES @LUULL snb

Qupp wrareuisafler eramarlsans ereer?

A)
(B)
(©)
(D)
(E)

27

17
18
19

een Gsflweidena
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(3)

(A)

(B)
©
D)
(E)

1S m : -
as black soil. ore 1n a soil popularly known

0'1 . A
Th(? i dem?’ed from deccan trap is fertile and has high
molsture holding cay acity,

(1) is true/corréct
(1) and (3) are correct |
(2) and (3) are correct

(ll) and (2) are correct

Answer not known

wer uHMw Famhled Erﬂu_lrrsprmﬂ')@m @gﬁ&,@gg ;

(1) L @bslw  snbeeller e QUEBUTEID  EOWILDENE  MISETTE)
UigWIeneuds L QEIms,).

(2) s@uY wer aam Gruawrs HFuLLED warald GMmbY E®ER
GG 2 dreng).

3) sssrem Sy OWSmHE 2 (heun@d e euetomar WHMID Hs
FILUSSES STREGD SpgieLws.

(A) (1) wrEwn sNurers

B) Q) wrmbd (3) sfwrarg

©) (@) wpgib (3) efuneng

D) Q) vpgd (2) sMwrarg

(E) e QsfMwaiicrencd
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181. Identify the correct order of the table of Precedence

(A)

(B)

(€)

D)

(B)

Ministers of State of the Union, Chief Ministers of States,
Speaker of the Lok Sabha, Vice-President

Vice-President, Speaker of the Lok Sabha, Chief Ministerg of
States,. Ministers of State of the Union’

Vice-President, Ministers of State of the Union, Speaker of th,
Lok Sabha, Chief Ministers of States

Vice-President, Speaker of the Lok Sabha, Ministers of Stat,
BT Union, Chief Ministers of States

Answer not known

wargiflew o lamer aflemsfany sflurar  euflews @uridaars

sarL_ls

(&)

B)

(€)

(D)

(E)

P DgFrhissSeaT @aer JMDEFTHEET, LIHD APSOEMLES TS,

LD&HETENC FLITHTLST, lenenr merrdlu

‘gloan gamdlug, wsaTees FLUMBMLUEHT, LIFQD PSLELOESTEET, LS

TGS e BT M OEFETEHET

glewenr  gartglug, mgﬁm QremhRsSHler  @Qenent  DMDEFTHET,

 &sarana FUMBTWST, Dl (pSQLEFSTEET

soan gamflugl, wésaae FUTBTLSGT, WSS SrsTRssHear Gearn

DIMEE[&ET, DMl ApSO®OESTHET

eilen Gz flueldame
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he initative to elim;
8. T fate open defecation, in India and improve solid

qste management t :
v | | hrough the ‘Swachh Bharat mission’, leads to

A) Decline in Poverty rateg
(B) Improve employment Opportuniﬁies

(C) Improve public health ahd foster a culture of cleanliness

(D) Inadequate infrastructure

(E) Answer not known

@rdurele SppsQeed wan sfllues ltiugh@b, ‘@veus LMs Wleyer

por Srésfle; Coararemomy CobLRsgaspEnd Cop@smdamamiuGd
pupslsaer

(A) aumeno Qﬂﬁgmmwms GEOPEHD

(B) Cameamitiysmer GubL@ssse

(C) Qung arasfrgnugwg, Gw&u@g},@gsﬁ WHMID - FILMDE SQIFETTSDS
émﬁuug | |

(D) Cungorer 2 &L @WLUL Gdamanio

(E) e Qsfueidame
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- 183. Read the following assertion and reason and select the COrreg

answer from the code given below.
Assertion [A]: In 1801 the British attacked Slvagangal with ,

powerful army.

‘Reason [R]: In 1801 the Marudhu brother Chinna Marud,

(A)
(B)
(€)

D)

(E)

gave asylum to Oomaidurai.

[A] is true but [R] is false

[A] is false but [R] is true |
Both [A] and [R] are true and [R] is the correct explanatiop
of [A]

Both [A] and [R] are true but [R] is not a correct explanatiop
of [A]

Answer not known

h&meu@m gabm  wHmD sTTETS®SL  Ugsgl,  SCY Gasrr@&asuu;@mm
@@USL,lq_cﬁl@lr_lsg,l sflurer aflenLamws Gﬁﬁp@g@&;&;a{m

ampm [A] : 1801w -%qu}. - yudCowiser  @f  ssfleumisg

ueL L e feushtians®mus Srsblear.

smpand [R]: . 1801  yemged woa  sCargri  feaar g

(A)
(B)
©

(D)

(E)

2N DFIDTESE AMLSFOD QSTHSSTIT.

- aapm [A] efl gyermed siyemd [R] Seuml

ampm [A] seup spermeéd smrend. [R] &M
dapm [A] wpmid smyeamd [R] @ren@o s wppud sryeerd [R] ererug

-@mpm [A] @ér sflwner eflerésibd

spm [A] wppw smemd [R] @rem@on sl wyemed smyemn [R]
erag) spm [A] @er sfwner elerdsd i@

aflenL Qs Mlwefdene
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gd. o b andl CT(;fm L
Jo* ctively. Lhey start
espeé ed to
rThen A and B will finigh tj Worl.( together but C left after 2 days.

@ 4 B) 5
© © | D) 15

(E) Answer not known

A, B wpmio C &bﬁ@mqﬁ Q:Gbﬂggseuﬂum il Calenmu fnmntas 19 wiradr
15 prise wHod 20 pr sefg Qw1 dmpenit peop 13 ;
@GO QDTS Q&g @@E@é\wm'm
!brrﬁ_'mﬂs'n Ceuemevenws 6956

prisefled apg v,

@uiGung epary  Gu(mLd
. <yemeo C @ran®
G&mm Gr_aﬂr,i), A-o, B-ib Bgperar CauanaaniL

®) 4 | B) 5

(6} = . D) 15
(E) eleL Gsflweldaa

185. A square park is surrounded by a path of uniform width 2 metre all

around 1t. The area of the path is 288 sq. metres. Find the perimeter
of the park iy

@A) 124m (B) 144 m
€ 100m - - (D) 136 m
(E) Answer not known '

am s&r ageilune grf'ﬂasrrmrrm@', s S@ass ussusaigd 2 B8
- asaperer @Gr sieralloner LT@FWLND ERUULHETETE. AHSL Limangudleor
uytiuetey 288 &.18 erafler Sipsls Lhsreder spmereilemans srars.

(A) 124 .8 "} -~ (B) 144 8

(€) 100 8 ' (D) 136 1

(E) e OgMweldana |
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186. Modern man originatéd in which period and epoch of GBOI{)ngaI

Time scale :
Period — Epoch
() Tertiary - Paleocene QUESTION NEED TO BE
e VERIFIED
(i) Tertiary — Pliocene :
(iii) ‘Tertiary — Oligocene
- (iv) Tertiary — Miocene
(A) (i) 1s correct - (B) (1) is correct

(C) (iii) is correct (D) (iv) is correct

(E) Answer not known

yelGwe ste o Lamands pelar wellger s u@sﬁm wHmD gy
srsHe Camendlearmen : b

ugeb - - Agsrad
() Quiefufl - GuelGuiner
(i1) QLﬁ@u:ﬂ —  9efGunden
(i) Quiedwfl — Carder
(v) Quiefwf —  ewCunfen
A) (@) shureree B) (i) sfuraree
(C) (iii) sMwnarene (D) (iv) efwnarana

(E)  derr QgMuiefcrena
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/ Consider the following e |

® Famous Place e
(1) Bodhgaya _ Eﬁ?
9) Khajuraho _ ghelkhand
( Shirdi Bfmdelkhand
(3) ik = Vldarbha
(4) Nasi S v

(5) Tirupathi RaShis

Which of the pairs given above are correctly matched?
@) (M), (2) and (4) only

®) (2), (3), (4) and (5) only

©) (2) and (5) only

@ (D), (), (4) and (5) only

(E) Answer not known

£@$&dﬁermmmé sflunsl) @urr@g@a; .

UspQubD @b uEd
(1) ussswn —  Usesa
2) asgegnGar = 10 efm_ Biait
(3) ofig —  agiur
4) préls ~  Lorden
5) Sopuug - @uruaéor

Epsem_cuppieT eraneu sflwns Quinrwpgd énpen ?
A) (1), (2) wombd (4) LLEL &f

® @), @), (@) wpps (5) v

©C) (2) wpmbd (5) L &l

D) (1), (3), (4) wpmbd (5) wr_[Hbd &
(E) efler Qgflweiidrare
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'188. Arrange the following states with respect to their Niti Aayog Spq
India Index 2023-24 rankings

(1) Tamil Nadu

(2) Uttarakhand
"8 - Rarals

(4) Goa

A @, (3)_, (2), (4)

® 1), @@,
© @,6,0.®@
@ (@), 1), (3), @

- (E) Answer not known
88 mGursder SDG @pus GHSG 2023-24 sraMesivy Gemgs
wrfomsm aflesiL@sss.
1) 5856
2 osfrsan
(3) Gsyerm.
(4)  Gsmaun
@ @0,0),2,®

B @), ®3),®, 3
© @,03),0,®
D) @), 1), 3), 4)
FI (E) eflen Qaflweciicoena
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cherﬁe 1s Rs accidents under “Nammai Kaakum-48”
8 : - |

(A)  1.00 lakh
(C) 2.50 lakh

(E) Answer not known

(B) 2.00 lakh
(D) 3.00 lakh

A)  1.00 orsn
(C) 2.50 ooe1d

(B) 2.00 @ _sbd

D) 3.00 e s>
(E) Qﬂ@L Glgstﬂu_leﬁlmmeu

190, The Central Institute of Classical Tamil (CICT) is functmnmg in its
own new dedicated premises from 2022 onwards in

(A) Chepauk 45 (B) Mysore
(C) Kilambakkam | (D) Perumbakkam

(E) Answer not known

QsbGwmfls sWlpmie; wsHu Fpeuerd, 202250 @b wWsd Siger
Qerps UHw GrsCuws euarmagdld Qewdul { eu@pb @L b

A) Cesuumssd (B) evw@i |

(C) AHemmburssd (D) Qupburssd

(E) oo Qsflueldme
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191. What according Valluvar is actually possessed by the people whg are

| . called as possessors?

(A) Motivated
(B) Heroic

(C) Wealthy
(D) Educated

1

(E) Answer not known

o L WeUIEET TG 6Teng 2 @L Wil eyl euaT@hauft sagidlmmit?

(A) eaésbd 2L Guh

(B) &Sy 2.aGuimi
(C) - Qaeveuid 2 e Guimt
(D) sded 2aCumi

(E) oo Qsflweidane
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192 Find the next term.
64, 32, 48, 120, 420,

7 .\\—'
A) 1260 | ‘
(C) 1686 | (B) 1890
(E) Answer not known, (D) 2318
2063 DIV srer,
64, 32, 48, 120, 420,
—-—"_""—‘————-__..
1260
(é) 1686 (B) 1890
o (D) 2318

(E) | e QsNweldene

¢

193. Directions : Based on the digit-alphabets-symbols series given
below, answer the following. -

@18HLI6K*&?UE

How many numbers are there in the series which are preceded by a
vowel and succeeded by a consonant? -

(A) Two (B) Four
(C) Three (D) One
(E) Answer not known

GOy : ﬁ@iap QaErH&suuL_Herar @mé;a;m.sm-d@g@émdrh@@ﬁ@a;m

Qgr_feflppg Spsaranb ellamelns efenwell&seab.
@18HLIBK*&?UE

50T earssmer  aamsar 2 1NCFEms  GQamrLibgb, 2 uliGlow

TRESES (PHDID JAPLBFIATaTS) ?

A)  @rer( (B) prane

) s (D) gep

(E) e QzMwaeldana
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194, Match the following List I with List II SDGs  (Sustaingp,

Development Goals) :

List I List 11
(a) SDG 6 1. Life on Land
(b) SDG 11 9. Life Below Water
(c) SDG 14 3. Clean Water and Sanitation
4. Sustainable Cities and Communitieg

(d) SDG 15

@ @® @ @
A 3 4 1
B 4 3 2
© 1 3 4
@ 3 4 2

(E) Ahswer not known

= N = DN

Spssrapd Heawrer aertés QosGS®Er LILGwD I ow ulgwe ]
2 Lar Qurpsgs : |

Ul igwe I utigwed 1T

(a) Peoowrar aariés Guse - 6 1. feogdd aungbd o Gfiser

(b) Peeurar waisd Gose - 11 2.  saraiGsE eaGer amyo
2 Wifser

©) Heoowrer awerisd Qi - 14 3. spgwrer it LHHID F&TFTLD

(d) Peewrer wartsd Qose - 15 4. Hoeowrer paflphssd wogo
' . FAPSMISET

@ ® @© @
A) 3 4 1 2
(B) 4 3 . 2 1
© 1 3 4 2
D) 3 4 2 1
(E) = ele Qgflueicdrana
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Reason [R] : The JUdiCiary has succ
of

-l essfully expanded the scope
Judicia] review over

(A) [A] is true; but [R] is false

(B) Both [A] and [R] are true; and
of [A]

(©) [A] 1s false, [R] is true

the years.

[R] is the correct explanation

D) BOE:] [A] and [R] are true; but [R] is not correct explanation
of

(E) Answer not known

Spaud sdm [A] whpo smyen [R] etfwepern vweru@sd sflurer
deoLawus Csmb0shés : |

wmpp [A] - Qi epsmLiLE sl Bseyd  GHLUTS
bALLemTLey Sidsmrsmass G NIRIQELY:]

smyeerd [R] : bossiopunary  sery  fHuyamrmiey  sdsmsos
&@ﬁg@ﬁgﬁﬁ@&aﬂ@ ellfleunsdlé Qameir_g).

(A) [A] werg o, gamd [R] eyang saup
B) [A] wppd [R] <peng &f; wppid [R] epeng [A] ér sflwrer elarssio
©)  [A] geng saup. [R] peng o

D) [A] wopp [R] wem sfurasnen; semed [R] wes [A] &6
sflwmear eYar&ssLnea '

(B) efenr Qgfueicdrena
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196. Assertion [A] : Women’s empowell'rgex_lt is a cornerstone
_ social justice. Initiatives such as workj,

women hostels, creches and women-spec; X
gkilling programmes aim to enhance wOmenLﬁ,s
participation in the work force.

Reason [R] . Removing barriers to women s pi'u’tlclpati.(m i
' the economy, the Government 1s fostermg .
more inclusive and dynamic work force.

(A) [A] is true; [R] is false

(B) [A] is false; [R] 1s true
(C). Both [A] and [R] are true, and [R] is the correct explanatioy

of [A] |
(D) Both [A] and [R] are true, and [R] is not the correg
explanation of [A]

(E) Answer not known

spp [A] . Quans@sse sfsmodissd adug sws pHda
M PESDOMGLD. peaflyfybd Quekrser eblHdadr,
LphengL ugmofcy ewwkiseT wHMID  Quenas
-g)gm_frurrsw Hper Gowum G HLmaser  Gurdp
wwpdsar uefls QsmESuiled Quenrsafiar ukisafitiou
Guobu@ssieuams Coréswonss Qsrar(Hererar.

smyed [R] : Qur@ernsTysEd Quekraer uGapugpaner
gL s@mer HES, DTEFTEASLD WNsayld 2 drer ddu
wHmib gyriurer Agmiloranismar QaTTSS) uhEng.
A)  spm [A] &f; smyemd [R] seug
(B) ampm [A] saum; smyard [R] &
(C) ampm [A] wpmd smyend [R] @rawr@d &fl, Gugib smyemd [R] sapuy
[A] ssmer sflwrer aflaTésionE D
D) spy [A] wpmb smeerd [R] @rerdn &fl, Gogib sryewrd [R] spm
[A] sarer sflwner efletéswde

(E) eer Qsflusidame
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o7 Choose the right Mmatcheg among type :

1) Kaverippakkam Inscription

- Varaguna
) Thirumukkuda] Inscription - Virarajendra
3) Tiruvalangadu Plageg ~  Rajendra I

(4) Uthiramerur Inseription ~ _ Parantaka I

A) (1) and (2) are correct

(B) (3) and (4) are correct

©) (2), (3) and (4) are correct
@) (1), (2) and (3) are correct
(E) Answer not known

shlurar QUTBSStisamar CoipQsd ssab.
(1) 5n§§mrﬂuuné5m SDGeuL () - QIS eRTT
2) Sowsm s saQea — elﬁqqrr(%g‘_rﬁﬁlmr

(3) Hmeurownsmd AL = wsambd prlgbHrm

4 258C0mT swQau @ —  (psmD UITHSET

A) (1) wpgid (2) &M
B) (3) whmid (4) &
©) (2), (3) whmd (4) &
D) (1), (2) wpmd (3) &
E) e QsAucideme

CCSE2-2AE/2025 129 0
[Tuarn over



Highlight


198. Two numbers are in the ratio of 15 : 11. If their HCF is 13. Finq the

numbers.
(A) 585 and 429 (B) 195 and 143
(C) 390 and 286 (D) 117 and 182

(E) Answer not known

@ aramser 15 1 11 aenp oldgsledr diewpgererar. siaupBler B.Qur.q 19
aafledr Dpg cTamFHMaTS FTTS.

(A) 585 wpmib 429 (B) 195 wppbd 143
(C) 390 whmb 286 (D) 117 wppib 182
(E) eenr Qsflwcidame

199. The least number of square tiles required to pave the ceiling of 4

room 15 m 17 cm long and 9 m 2 cm broad is
(A) 1738 (B) 814
(C) 902 (D) 656
(E) Answer not known

15 8 17 Qg8 Serapid 9 8 2 Qa8 Sis@ b daTaT @@ Sienuilen etsas

Siawsss Camawnar 57 @hsale GopbsLLE crananfléens erenarn?

(A) 738 | (B) 814
(©) 902 (D) 656
(E) oflerr Ggfluciavena
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)

(1)
2)
3
(4)
A)
(B)
(®)
(D)
E)

N Choose the right Matcheg of the
p'eriOd coins were foypg In Tami] N

adu.
Dharmapuri

—_—

ThOppoor

Salem :
Kanmyan Kuttai

Erode Mukkomby,

Trichy

Vembayoor
(1) and (2) are correct

(2) and (3) are correct
(3) and (4) are correct

(2) and (4) are correct

"Answer not known

sRlwmer @wmmug Ggﬁ;ﬁ@g@e’s&.

sUlpEsSe shssT SEEaT S gs QL ruger.

(1) siwyf = Qgmig
‘(2)' Gsavid S it GlaL
L s
4 o T Gelbtingt
(B) (1) wogd (2) o |
(B) (2) wppo> (3) &f
©) . (3) wppid> (4) o
D) () wpgid (4) s
(E) &L Qzfweidea
CCSE2-2AF/2025 | =S
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